Set |d: 3155443 9-12-2016 — Batch1 - Group4 For: Rajya Sabha Secrelariat, Parliament of India

Section 1 - PART A ®

No. of Questions: 60

1) A field of dimension 100 m x 100 m needs to be fenced. The cost of fencing is'Rs. 25 per meter. The total amount spent

on fencing the field is: / 100 ¥=% x 100 Hrzx amaver ¥ W &5 57 577 atus ¥ sraeaear 31 Gaws $i e ufd die @ 25 21 &
& BT U A AT e afir g

A) Rs. 10000 / . 10000
B) Rs. 8500 / 7. 8500
C) Rs. 7500 /%. 7500
D) Rs. 5000 / %. 5000

2) Suman's age after 7 years will be twice her age 9 years back. What is the present age' of Suman? / A+ $t s 7 a9 & are
9 = q& s s it T gt gEe T HisET A = g2

A) 23
B) 25
C) 19
D) 20

3) The paper sheet given below is cut along the dotied line. How many corners will the resultant paper sheet on right have? /

A= €F 7 T ofte 7 e YT F wr amer way §) 2E A7 arorHT 9T ofte ® B e gire

\\-
“ﬁi
™~
-
e
-
-
-‘\
A) 6
B) 7
C)3
D) 4
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4) Selecl the option that is odd one out among the given four options. / T fs=y 1 97 59 51 fFo 7o 377 B0 § & fer &)

A) Methane /=4
B) Nitrogen / =21
C) Helium ( #iferam
D) Oxygen / A=

N E e B R E A e R R T AR e T G e L

[Following are the conditions for selecting an assistant in Income *" Bt

Tax Department. The candidate must: !{i) T T 60% S AT Bt o frer F W ST

(i) be a graduate in any discipline with atleast 60% marks. il

|
!(n} have qualified tier-1 exam scoring more than 130 marks and (i) Femrv=1 v F 130 7 s o A Frme-2 whar i ww
i—tler—Z exam scoring atleast 250 marks. -!Em' 250 S HE A AT T T e AR
|
(iii) have secured atleast 60 marks in the interview, '{Eii] e T S T ) T TR e = e

(iv) be less than 27 years of age as on 1st October, 2016.

(iv) 1 #=za, 2016 Fr arfie 71 27 w7 F 59 41 2rAv i
| |
|

=rfEm
In the case of a candidate who satisfies all the conditions: '

|

(a) If NOT (iii), but more than 55 marks in the interview and has ' .

;scored more than 92% marks in class X, then be considered for (@) B (i, 1 gevey ¥ 55 & st st i et e i
selection in the Znd merit list, T 2% 1 ST S ST BT £ AT, 2 A A g i e

{(b) If NOT (iv), but is less than 33 years of age and under ;jar' forr fArsTe fR st <)

%backward castes reservation, then be considered for selection in :-:(b.} BT (iv) 3, AT = 33 7T 7 o 2 Ak et ol i
the 3rd merit list. TEOY s SeET AT & A, AT ARTar =y § g |
B B st =R

Based on the above information and criteria given in each of the i

:following questions, you have lo take decision. e ST A A R e e i e
!‘d{TW T AT R AT 2R '
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5) These cases are given to you as on 1st October, 2016.

Candidate Information : Mrunal Tagore is a graduate in engineering with 75% marks. He qualified tier-1 and tier-2 exam with

154 and 278 marks respectively. He secured 71 marks in the interview. He belongs to backward caste category and hence
under reservation. He was born on 12-10-1987. He should be:

| 3wt e s T 1, 2016 i arée @ Ry aw )

IHHTEAT i FARL: qUT T 75% A0t & 6 Eehfaitn § dsque &1 36 e 154 @t 278 st & ava a1 o Raw2

AT F Frvaar we faT ) s feveg 7 71 m@ﬁﬂmglﬁﬁaﬁﬁﬁwé ST SR STeeT & S £ 7y 12-10-
1987 =it dat gar 4Tl 3H

A)  selected / SF7 AT FTRT

B) considered for selection in the 2nd merit list / S T s T=1 % 52 F fore Brs=me G st =fgn
C) considered for selection in the 3rd merit list / FH Frvar w7 g=1 # 52 & form F=re By s =g
D) rejected / wdfigm FHTAT TR

ES) What is the difference between the number of edges and number of corners in a cube? / ﬂﬂﬂ a7 ﬁ«‘rﬂ'{‘r EﬁTWa‘%H@T
% ofi= T SaY grar 82

A) 0
B) 4
C) 2
D) 6

- S T B e o o o TR e o T e

?) A setis given, (B, D, F, H) The sets given in options are similar to it in a certain way EXCEF‘T one. Find the set that is
different. / we &z R 4 & (B, D, F, H)l ¥ # frw s R & & ek 77 grgsw, v v Al drefT % wHT §1 v o A S

¥ ST T R
A) (M, 0, Q, S)
B) (4, L, M, O)
C)(P,R T,V)
D)(C,E G, 1)
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L

8) Among the given group of 4 images, which set of images can be classified as a group? / B am 4 F=7 8 7, &7 & fr
AHIGT HT T TYE T (g & s wwar 82

9|K ¥4 2

= f1.
A) (1,2, 3)
B) (2, 3, 4)
C) (1,3, 4)
D) (1,2,4)
9) Which term of the given series would be the first one to have three different digits: 11, 20, 29, 38, ..........7/ & 7€ a7 §

A1 Py st uaefy s i ofy goft: 11, 20, 29, 38, .2

A) 1111 15F
B) 14th/144F
C) 12t/124F
D) 1313

il T F A F A A ot §) el

(i) 70% ==t 3 5T A= (% Fgey UErerT (BCA) | =TT

| (i) 7 7 7 75% SFI T AT AE27 =7 Fw=g=s Ao (MCA)
!(i} be a graduate in Bachelor of Computers Applications § AT g7 A1

(BCA) with at least 70% marks. (ill) F= T STEAT A ATE A A A AT AqAT FAT AR

(i) have completed Master in Computer Application (MCA)  (iv) 30 3t 3 T =73 77 ZHT A1)

with 75% marks

[Following are the conditions for selecting a Programmer in
Firm.
The candidate must :

;(iii_) have a post qualification work experience of 1 year. B aefi vrat = e I selEE e |

(iv) be less than 30 years of age. \(A) 37T 3 71 (i) i e, Tl At aeT i 80% W
’;In the case of a candidate who satisfies all the conditions :  |SFer =7 s B &, wrer = Fwergf® & e = S 7 )
:(A) Except (i) above, but has scored more than 80% in Class-i{B) FUITH H A (i) T mEE, SR O 3AAl FET H 80% 7
IX11, the case may be referred to the Vice President. At A T ﬁ"’" &, W T TR 3 A HAT AT AT B
(B) Except (ii) above, but has scored more than 80% in T ATAN A7 g o R At ¥ e 07, A
Class X |, the case may be referred to President. oot A 21
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{Based on the above information and criteria given in each of

‘the following questions, you have to take decision. |

10) These cases are given to you as on 31st March, 2016. Raj Mohite is graduate in BCA, secured 65% in graduation and
85% in MCA. He has a post qualification work experience of 8 years. He scored 89% in Class X!l board exam. He was born
on 8th of November,1991. He should be:

[ T W 31 AT 2016 #7 Rafy F s A B e Artas BCA H A\ 8, 3% wra i 65% @ MCA # 85% s uTe
for &1 SR a7 ST S ATe 8 AT T AT Bl SHY TR £ A 7T § 89% s 9w & §) I8 7 8 T4, 1991 F
T AT AT I

A) rejected / #IFfTFa FAT F1IRT

B) selected / =R FzwT =TfRT

C) referred to the Vice-President / STTgafa & a8 ST FTIRT
D) referred to the President / Tre9{ & T dFT ITRT

11) Which of the following is an appropriate number to replace the question mark (?) in the sequence given below? / T3 § 7
s, BT aw s § g e (2) 57 v A & o e g g
89, 77,54, 25, 15,10, 7

A) 8
B) 7
C) 6
D)5

12) Raman pointing to a photograph says, "The man in the photograph is my nephew's maternal grandfather. | have only one
sibling." How is the grandson of the man related to Raman's only daughter ? / U= 1T T S¥ U F7T g1 T 7 T,
eI T TR Arer ey WY Sy 3 AT S A U S T A/ 1" SH THU F GIe 7 TA0r it g adr i wn frear 2

A) Son-in-law / ITETE
B) Cousin / & T 72T
C) Nephew / we=m

D) Brother-in-law / =T
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13) There are three words given here, The first two words are relaled in a certain manner, Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Boy : Husband :: Girl ; /

E2 o B e e o e Y T = T 2 I L A o e e B e o R e T e e e M S R e 0
ATy ATy A A g e el & ager o g v detaa #

LG 1 P A B o

A) Woman / 77t

B) Spouse / stta=rart
C) Mather / 51

D) Wife / Tsft

14) Find the missing term in the sequence: 8, 4, 27, 9, 64, , 125, 25, | “{@HT & @TIaT AT W F0: 8, 4, 27, 9, 64, ;
125, 25.

A) 48

B) 32

C) 16

D)4

15) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Mountain : Lithosphere :: Ozone Layer : /

Tt # gre= R aw F wEdr 77 v v TR @ At §) R = R i g st v e w5 St e o
wr 3eft w3 s 2 S A T age S g oer Efe 2

REGEA R b = L G
A) lonosphere / ATZATFRT

B) Exosphere / TFTEgA7

C) Troposphere / rrfEg
D) Stratosphere / TE2T=FaT
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18) In a certain code, if the word “EDUCATION" is represented by “DETDZUHPM”, then how will the word "JOURNALIST"
represented in the same language? / T# [Rferer gz 7 af¥ orsz “EDUCATION" F7 “DETDZUHPM" gTeT e Far srar g, a1
FHT ot F 4rex “JOURNALIST” =1 3t fRstve B srom?

A) IPTSMKBJRU
B) IPTSMBJKRU
C) IPTSMBKRJU
D) IPTSMBKJRU

17) If M+ N means M is the son of N
If M * N means M is the mather of N
If M + N means M is the father of N
If M x N means M is the sister of N
If M § N means M is the wife of N
What should come in the place of the question mark (?) to establish that Q is the brother of R in the expression
Q+X*Y(HR*Z

fafe M+ N Frsd M, N &7 3278,

e M * N Frad M, N Fr i &

e M + N & o1 M N a7 e 2;

afz M x N #1514 M, N 4 787 2;

M $ N =T asf M, N Fr et 2,

1 g Fofiva w9 F fAm & stor § Q, R %1 9TE & o7 WAt (S (?) F F41 97 4T A7 /g ?
Q+X*Y(?)R*Z

A)$

B) x

C)+

D) =

18) In a certain code, DJSF is written as ORXH, then how is FGKT written in the same code? / W= AP F= T DJSF &t
ORXH & & & fora@r srrar &, a7 3¢t 72 & FGKT =i &= fPrar so?

A) QYRI

B) QOPV

C) QHKK

D) asaw
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19) If the word "COMTEMPLATION" is coded as “5148396028714", then "POTENTIAL" can be coded as [ 712 ¢1=2
‘COMTEMPLATION" 71 “5148396028714" & =7 # 3z @@ ffmm w17 £, A1 "POTENTIAL" 7 Rt 7 7= & e s feam <17 #remay

g7

A) 618433720
B) 618343270
C) 618343620
D) 618348720

‘Following are the conditions for selecting a Cartoon Animator. The [T T Wiy % =717  form ot s 21 zedfizam

‘candidate must: T

|
!(.1) wTHY FE 7T BT ZEr arEm

;(i) have completed an Animation course.,

(ii) be a graduate in any discipline with 65% marks. | 7 R 5
) beiag i ’ (if) 65% ==t ¥ 7rra Freft off fmer # drre S = riEm

((iii) have a post qualification work experience of alleasl 2 years in

| ) = T L e T L 2 e B 2
any multimedia company. | = . )
, T 2 7T AL TAT AR

I(iv) be less than 30 years of age. - g 5
A ) y - (iv) 30 3117 7 FH TH HT FAT AR

In the case of a candidate who satisfies all the conditions: Ay v e TR Wt ot T e 2

(A) Torarr =T (ji) 3, F e T T E 70% wafew |

I(A) If NOT (ii) above, but has scored more than 70% in Class X, the e o B
T T 2 AT, ITHAT HETYERE ST S0

[case may be referred to the General Manager.
' (B) Frrmr 3m1=w (iif) , A v T By & A,

{(B) If NOT (i) above, but has a post-graduation degree, the case
g HIAAT W= wrarA afasrt (CEO) it srar 3171

may be referred to Chief Executive Officer (CEO).
| (C) R e (iv) , A Py ot wfeif et i
T A 4 A R S Y, WAL S AT A |
=T =T |

((C) ITNOT (iv) above, but has a work experience of alleasl 4 years
iin any mullimedia company, the case may be referred to the
'Managing Director. I
|
Based on the above information and criteria given in each of the  [zvrer st s i Fer arer syeores swop 4 For e =
following questions, you have to take decision. T SATETT 97 ATTERT AR AET Z20m) i
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20) These cases are given lo you as on 10th November, 2016.
Candidate's Information : Aditi Roy, a graduate in Commerce, has secured 57% in graduation. She has completed a diploma

in animation technology and has a post qualification work experience of § years in a multimedia company. She scored 80%
in class X. She was born on 20th of Novernber, 1988. She should be:

J 3 wrefi wTeE ST AEET 10, 2016 1 AréE w7 g my §

FrlfteaTe it s afef 7 F st arfirey # Isue g, ISques # 57% it Frar ) 5o verae ey F e § R g
Foram & o s wiferfoeree % e v wfeadfifRar ot § 5 gver v wraTaae 81 39 2adl 767 5 80% e 3T 81 78 79e 20,
1988 =i freT g% off 3%

A) referred to the CEQ / CEQ F e §=iT SIT+T ST 1

B) referred to the Managing Director / Waer H=TH & TTH §SIT SITAT ATET
C) Selected / 557 Ft=T I1RT

D) referred to the General Manager / FETTE=I: & TTH FSIT SAT IT(20

21) Below is given an opened up dnce What number would come opposste to 4 in this dice? z’#ﬁ‘mﬁ T 98T {E'mT) ﬁ?«rr
AT B TH U W 4 % R i A e anf?

_ I 4
I 5 3
2

A) 2
B) 5
C) 1
D) 6

22) In the given sequence, one of the term is not in a proper manner. Select that term. The squence is (43, 142, 240, 337
432) / fom o F we st gt w9 S 31 99 S A g w9 F (43, 142, 240, 337, 432)

A) 432

B) 337

C) 240

D) 142
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23) The paper sheet given below is folded along the given dotted line(s) in the sequence as mentioned. First fold is made
along the dotted line 1, then along the dotied line 2. How many edges would the shape in the resultant paper sheel have,
after the folds? / T & o ez T sfeefirm s % fm sro @t 7 (Rt 7 wwmias 2127 sirar ) Tar 212 e i
Tt A T A B sray 2, 6 Bt 6 v 2 5 qaeiae 91 w g ot g ofe § fee e g

A) 16
B) 13
C) 12
D) 14

‘A company decided to recruit Sales Executive trainees. The ﬂ‘zl‘ Foreft 37 Py At ey v st s v e fe )
‘company laid down the following criteria for selecting the At TelEETT e o Fe e it B g
candidates. |

'[A. should be a graduate securing atleast 70% marks. A FEAT FH 3 T 70% ST F AT AT BT AR

B. should have scored 65% marks in the selection interview. fB- FAFRETT 5 S AT 7 65% 3w e

'C. should know fluent English. (C. i SRSt & ervnsreTe A ST AR

‘D. should have scored atleast 75% in the written tesl. D. gtz 7 il wfter # o & Fm 75% 0 g R En

IIn the case of a candidate who satisfies all the conditions : T AT 9T FT I FAA AT T F A -
(i) Except A above but has completed MBA, his/her case (i) 3T H H AR BT, FrHTEATT T MBA B &, s e
may be referred to the Managing Director (MD). f;f‘T e e (MD) 7 57 ST o 81

(i) Except B above but has a work experience of atleast 2 |("} I 3 B AT A, ST e ae w i vere arl
years after graduation, his/her case may be referred to the T A A A 2 Tr—'mf AT T, TR AT AT VTP A m
the President. ST AT 2

jBa's.ed on the above information and crileria gi{r'en in‘each of |37 AT A1 A e w # R s F e 0, f
the following questions, you have lo take decision. e o A 2
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24) These cases are given to you as on 21st October, 2016. Vinad passed engineering with 70% m;rks. He joined XYZ firm
in 10-12-2010 as a junior sales executive and has been working there till the selection date. He scored 60% and 78% marks
in the interview and the written test respectively. His English' is very fluent. He should be:

/3 e ST 21 wEgAT, 2016 i Rafi F g R #: BT T 70% s F A S tor o fi §) 10-12-2010 F @
wrg R i ¥ w0 & XYZ W 7 e AT 4 e aive s i v e ot e e <eT & e e we PR we
¥ F: 60% AT 78% iy v &1 =g ST § 75 €7 F=ar grIvaATe a7 2l a1 Iwh:

A) rejected / TSR FEAT ATRT

B) referred to the President / Trgqfa & ure d=mT =TiaT

C) selected / wafAe FwaT FRT

D) referred to the Managing director / Seer f=er: 3 T HST =120

25) Three out of the given four items are similar. Find the odd one. / T 7w =< smaest & & €1 oo s &) B s &7 vg=
EIEs

A) HIG24

B) ABC6

C) ZYX38

D) PAC20

26) Find the missing term in the sequence: 101, 203, 305, , 509. / s T =T e ww Fi9 101, 203, 305, .

509.

A) 505
B) 406
C) 407
D) 506

27) If "“World is mine” is written as 213, “round the world” is 157 and "circle is round"” is written as 376, then what is code for
“world is round”? / af% “World is mine” F¥ 213 ¥ &7 # forem iTaT &, “round the world” 1 157 & &7 7 T “circle is round” &
376 ¥ =7 # forat sar &, &7 “world is round” =T %€ 74T 8?7

A) 126
B) 153
C) 673
D) 137
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L

28B) Three of the four following expressions belong to the same group or class in a certain manner. Find the odd one out. /

Frerfrfm = warom § & o von Fflr a1 & o A e vt & el & Row w1 e

A) Cellphone : Battery / 3o : 3291
B) Sofa : Foam / ATFT : ®IF

C) Money : Wallet [ T : Z24r

D) Tank : Water / #7 ; 771

29) Mr. Bajaj, Mr. Desai, Mr. Khan, Mr. Parmar and Mr. Chopra live in a 5 starey building each of them on different floors.
The bottom-most floor is numbered as floor 1, above floor 1 is the floor 2 and so on upto floor 5. Mr. Desai lives on a floor
above Mr. Khan's floor but below Mr. Bajaj's floor. There is a gap of two floors between Mr. Khan and Mr. Parmar. Mr. Khan
lives immediately above Mr.Chopra's floor. Mr. Parmar lives on floor number: / 47 zsitsr, «ft 2o, «ff =, oft momme 4 off
STET, 37 ATE ST AF w31 w2 v 5 65 s 7 v #) v & Ay Ay whe wr v 1 % ww i wnifi S £, 6
1 50 5 G 2 & A e 6w zemfe | of ZrE, o mre A E wr a d e AR o A i e 5 A e
& At AT e A e i 2 S st 21 of w, v =ver £ 66w S s v #1 o e e e 0 ey 2

A) 1
B) 5
C) 2
D) 4
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Following are the conditions for selecting a Cartoon Animator. The T réq nfAfes & 557 F e o FRerferfare 21 sofieam |

%candidate must: ! ‘
(i) have completed an Animation course. (i) wtHerT FEF e T g =R
\(ii) be a graduate in any discipline with 65% marks. (il) 65% @r=t 3 Ay ey «ff Broy ¥ Isque gmT FriRT '
\(iii) have a post qualification work experience of atleast 2 years in (i) FTferere & am= Frft i aRafifo s s a
%any multimedia company. I 2 HT T AR BT AT

j:;(i\'r) be less than 30 years of age. (iv) 30 T & 7 IF T AT IR0

'i!n the case of a candidate who satisfies all the conditions: ST T IEHTEATE AT AT RO T

!{Aj If NOT (ii) above, but has scored more than 70% in Class X, the [(A) ferama gu<rss (i) #, @i T T ¥ 70% & e
{case may be referred to the General Manager. ST AT B T, HTHET SgTIaee WS S

\(B) If NOT (iii) above, but has a post-graduation degree, the case i(B} Fram gaor (i) F, afE uE oree-tsuas B g v,
'may be referred to Chief Executive Officer (CEO). TTHHT WY FraTE At (CEQ) F7 ST SiTu)

(C) If NOT (iv) above, but has a work experience of atleast 4 years i'(C) Rrara audre (iv) #, st Gl o aeadifzar sodf o |
in any multimedia company, the case may be referred to the T AW 4 T FAATLAT 5 a1, AT THG G0 91
|I‘u’lanaging Director. i T ST

‘Based on the above information and criteria given in each of the WWT" EIREARE R B A meaﬁ T ¥ o TrerTrtreaT
following questions, you have to take decision. Tf SATETE TC AT (A7 F47 g

30) These cases are given to you as on 10th November, 2016,
Candidate's Information : Zoya Momin was born on 4th of May, 1990. She has secured 75% marks in graduation. She has a
post-gualification work experience of 5 years in a BPO (Business Process Outsourcing). She has completed a cerlificate

course in animation technology. She is not a post-graduate. She should be:
[ F el AT ATt AeEe 10, 2016 #F ariw #1 &u T 2

Frfteame 1 ST ST AR wE 4, 1990 T far gF o T e # 75% s griie e 1 g9 g F are BPO
(s Wi arsewTiaT) & 5 T &7 FTATaa gl ST TATHSA ST .67 7 aféftre Fir 11 fFar 81 a8 us Twe-usue 78!
ke

A) referred to the Managing Director / STaer S=Tere: & TT6 $1517 ST I3
B) referred to the CEQ / CEO & 9T WT ST IR0

C) Rejected / =9 7@l weaT A1IRT

D) Selected / =& FeAT =1ET
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31) Three of the four following words belong to the same group or class in a certain manner. Find the odd one out. /
s =17 ot 3 & fir v R afvee 3 v 8w ar et A it 2 B A e a

A) Dove / Fgm
B) Bat / swEmEE
C) Eagle / 5z
D) Peacock / 7g7

32) A is the mother of P. B is the brother of A. D is B's grandfather. M is the brother-in-law of A. M's daughter is Q. How is P
refated to D? / A, P i wi €1 B, A %7 1€ 1 D, B AT =721 21 M, A %7 7711 21 Q, M ¥ 321 81 P, 7 D 7 Far Fromy 22

A) Cannot be determined / it 72} Bt 51 7 &
B) Grandson / TraT

C) Great granddaughter / 77Tt

D) Great grandson / 7T

33) Mr. Bajaj, Mr. Desai, Mr. Khan, Mr, Parmar and Mr. Chopra live in a 5 storey building each of them on different flnors.
The bottom-mos! floor is numbered as floor 1, above floor 1 is the floor 2 and so on upto floor 5. Mr. Desai lives on a floor
above Mr. Khan's floor but below Mr. Bajaj's floor. There is a gap of two floors between Mr. Khan and Mr. Parmar. Mr. Khan
lives immediately above Mr.Chopra's floor. Mr. Bajaj lives on floor number: / =t ar=rrar, oft &=7E, ot =y, off a7 o oft =T,
&S AT AT RO 07 0 5 WO S v £ T A At afie ar At 1 5 w0 mwitie G e 2, 6 1
F7 55 2 § <l w5 5w wenify ot T, off m s e F s ww i afie of aemer v e v ¥ A e 8 R
T 9 ot g of A s aw e 2 o A, A e A e w B s v $1 o asme w66 0w

A) 2
B) 1
C)4
D) 3

34) Two numbers are in the ratio 9 : 11. If 5 is added to each of them, the ratio becomes 5 by 6. The greater number is / 21
TN Q1 41 AATE H E A A A 97T § 5 AT AT E, T AT 5 TT6 7T AAT 1 A Frew v 57

A) 45
B) 55
C) 25
D) 85
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35) Four similar looking patterns are given. Observe closely and find which of them are actually different. (FF34G7, FF34G7,
FF34G7, FF43G7) | =% e o eger =ver et o0 w0 &) eorey g S sii wa avmren & w79 @ 19 ameaa & fw 2) (FF34G7,
FF34G7, FF34G7, FF43G7)

A) Third and Fourth / e sz =T
B) Second and Third / g&T 3T dia=r
C) All are similar / =+t &89 &

D) First and Second / TgaT T 8T

36) 20 kg of coffee having a rate of Rs.80 per kg is mixed with 12 kg of coffee having a rate of Rs.60 per kg.What is the
average rate of the mixture ? / %.80 Ty Rt it 3% & 20 Frefr w06 1 %.60 9t Ferr & it 12 Fft iy & Frerra st 21 feeror
T &l 2T FT 2

A) Rs.79.1/791%
B) Rs. 83.5/835%
C)Rs.72.5/725%
D) Rs. 81.2/81.2%

- 1 e e T e Sl e 14 B T O L S R E———— e T TS R S

37) The paper sheet given below is folded along the given dotted line(s) in the sequence as mentioned. First fold is made
along the dotted line 1, then along the dotted line 2. How many edges would the figure in the resuitant paper sheet have,

after the folds? / #i= R 7w Tz ofie &7 sRwfm g 7 R mr Frgelt 7 (=) F gam=ias a1 ST 81 vger 71 fEwgst A

TET 1 ¥ T B srar 2, f Rt it v 2 Fawwian 9rEr F are aford e ofie & fre e gnh?
-

A) 9
B) 10
C)8
D) 12
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38) An image is given in the left and 3 set of three numbered images on the right. Observe and find oul which among these
three images CANNOT be formed using exactly the same number of slraight lines as used to form the image on the left? /
E T A e e e e T e A e O e e e e e e e e B T

o TL|/I\

A) 2
B) 1
C) 3
D) Both 1 and 2/ 1 =¥ 2 =741

39) Four cows are tethered at four corners of a square plot of side 70 metres with ropes of length 35 metres.The minimum
area left ungrazed is / =T AT F7 359 AT 7HFAT 71 706 AT A AT BA F =19 AT H =797 997 21 FAT 9T gAT AW
CERERE LT

A) 1050
B) 2010
C) 4900
D) 1670

40) Find the option that is different from the elements in the given set:(HHG, LLK, TTS, VWU) / =7 e i1 51 F7 =17 &7
T FET A A 8 (HHG, LLK, TTS, VVU)

A) JJI

B) ZZY
C) PPO
D) EEF
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41) A figure is given on the left with a pattern. Observe and find out which of the three images on the right loaks similar to the

right half of this pattern? / aT @ us T2 & arg v Ry 21 7€ 31 evmgas afrm o sarew & ard o f i B v a am e
Tt & AT aref fRew & s ferd oEet 87

==

A) 3
B) Both 1 and 2/ 1 sfi¥ 2 47T
C) 1

D) 2

42) In a running race, Madhu finishes the race only after Dimple. Jay finishes the race only before Kiran. If there were 10

candidates in the race, who is at 5th position? / = = aTet 1 #, WE FFraer & @18 & O @1 FAl g1 5TF BT F Tee i o
Fvam gl afe w0 | 10 s=ftea g, a7 ar=a T 9 wE g7

A) Madhu / 71gg

B) Kiran / fEor

C) Cannot be determined / ST &1 3T ST TzhaT
D) Jay /s&

43) The paper sheet given below is folded along the dotted line. How many edges will the resultant paper sheet have? / =
T € T ofte #it fEdta v & g wies e g oo e offe # e e g

——‘-"_‘.—ﬂ _______ i —— —— — —— — —

A) 5
B) 6
c)8
D)7
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Following are the conditions for selecting assistant-engineer in a
|Software Firm. The candidate must:

(i) be a graduate in mechanical engineering with atleast 70%
marks,

(i) be a post-graduate with 75% marks.

:(iii) have a work experience of 3 years post qualification,

!(i\f) have secured atleast 80% in the selection interview.

In the case of a candidate who satisfies all the conditions:

[(A) EXCEPT (i) above, but has work experience of 5 years after
!posl—graduarion. then the case may be referred to General
!Manager.

-;'(B) EXCEPT (i) above, but has experience of 7 years or more
jkafter post-graduation, then the case may be refetred to Vice-
President.

:{C.) EXCEPT (iv) above, bul has more than 90% in Class X, then

the case may be referred to President.
|

[Based on the above information and criteria given in each of the
following questions, you have to take decision. These cases are

igiven to you as on 1st Navember, 2016.
|

Te

Frerferfim v sty drft § mrrssifar S v 5
ﬁl"",' ‘f.ﬁ%l TEHEATT 3T '
|

(i) 9 T 70% A1 5 Ay e hf i § vn

(i) 75% 55 5 AT o - S AR

(i FTIT RO %5 772 3 /T9T 7 TP 217 Arfem
(iv) Erevror $2vog & T 3 97 B0% grﬁ#ﬁmmw%rrl
ﬂ'f[?‘“?'}‘_a"‘:’ﬁ"ﬂ“l‘rﬂ“ﬁ YAt Y 9T AT

I(A) B 57 (i) ¥, i Trez-tsmer F Az 5 A ar |
FOITAE 2 7Y, TTHAT ARTIE T FF 2977 57 '

|( ﬁm—rm?(uq'?ﬁ—rrmwmsmTW?w—m
TSI AT AT ATATTAD & AV, WIHAT STTETEr T AT )

C) s 379 (iv) &, wﬁ-ﬂrwﬁaﬁmqsn%wmg '
AT, WTHAT AL T ST 7

!fmﬁmﬁaﬁ#ﬁ}%ﬁvnv'mwﬁxifﬁvwmﬁ ‘

T AT T AT [{ot F=r Eem w weh wreer Ay aEav
|1 2016 FY ardha 77 R

44) 36 year old Farhan Qazi is a mechanical engineer with 89% marks in graduation and 73% marks in post-graduation. He

has been working since 11 years in IT industry, after completion of posl-graduation. He secured 85% marks in selection

interview. He should be/

36 =7 S ATAT TR FNAT IS0 F 8Y% e AT TeeAor # 73% S0 7 AT U e ST 81 S o
7 T 517 72 1T 3200 & f=er 11 WWWFT’T?IWWHWWBS%HW%%IW

A) referred to the President. / @&rs F e sy 7 FifEm

B) selected / =1 5T WTfRT

C) referred to the Vice-President / 3Tmesr ¥ wrr 9tsi1 w17 iz
D) rejected / A&T FAT ST AR
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"o

EFDIIowmg are the conditions for selection of a Clerk in various v e 3 v et frfe F s 3 Fore Fvr o
! i L
idepartments of the Government of India. s%"l T

|

| Y e B - -
(i) F% T %9 60% @i % wra Frafr fF Fow ® wvas gEn

‘The candidale must :
(i) be a graduate in any discipline with atleast 60% marks. nfEm

‘E(H) have the ability to read,write and speak Hindi and English. (i) TE&T &l sty =z, o™ v ate 7 wew g =i

?(iii} be less than 28 years of age. (i) 91 28 o Sy =R
|

i(iv) must have a bank account in any of the nationalised banks. (iv) et off gt & % et 2T SR

iln the case of a candidate who satisfies all the conditions : '3-‘-[ wot arit A7 e A e sefiEaT A AT

?_(A) Except (i) above, but has post qualification work experience (A) TR 7 & (1) T GrEwT, FEHTEETE F I ke e 1

lof 1 years, his/her case may be referred to Senior Employment ot T T S &, T WA AT AT TS A A
Officer.

[T AT TEHAT B
'.(B) Except (iii) above, but has scored atleast 80% in graduation, (B) mﬁ ¥ (i) 77 FEE'T&' TefreaT I R A
his/her case may be referred to Junior Employement Officer. 80% i T T &, T TR S HINE TSR Ao A

Based on the above criteria and the information given below, (ST ST 69T
you have to take decision. A 5t sire vy DR
ool w2

45) These cases are given fo you as on 1st September, 2016. Harshada Khurana, whe is 27 year old, belongs to Gujarat and
has secured 64% marks in her graduation and 71% marks in her post-graduation. She knows to read, write and speak
English and Hindi. She has a savings account in a nationalised bank. She must be:

/

7g AT 1 R 2016 6t faf & sepae s & o & 27 adfa eder womt oo 6 § i za57 st aras & T2 F 64%
st T T @ i SRl s i wwrE 7 71% o arw G #1 9g st el G v, e o e i aaw g1 adiaee & i
THHT A= GIAT B AT I '

A) referred to the Senior Employment Officer / Ffvg Trs sifesmrdt % wra Sswr =2y
B) selected / wafHa FzAT ATRT
C) rejected / sreig FeAT ATRY
D) referred to the Junior Employment Officer. / %A T stftrrét & wvr dwwr =fEu
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46) A set is given, (38, 39, 45). The sets given in options are similar to it considering the HCF of elements, EXCEFT one.
Find the set that is different. / 7= %z (36, 39, 45) f&arr aray 21 G o 27 3=x & | v Frarzse arhl 4 351  HOF 77
IR T B e N R o e et 1 e |

A) (24, 16, 32)
B) (12, 18, 21)
C) (27. 33, 6)
D) (48, 15, 9)

47) Shalini is the wife of Kapil, who is brother of Renuka's husband, How is Renuka's mother-in-law related to Kapil? /
01 R B o e - 0 e e e R R A4

A) Daughter-in-law / 78
B) Daughter / 7
C) Mother / wi

D) Mother-in-law [ 519

4B) An image is made from some geometric figures. In the image, some regions are formed. In each of these regions, as
many clots are to be placed as the number of geomelric figures that has this as a part of it. One of these regions is marked
with number 1. How many dots will be placed in region 17 / wa: = v =€ servfirefter sl o e wan 21 B |, 33 4
T =TT AT ) T O A ¥, 3 & g el w2, Bl st arg R i e, stz et 81 59 & o d A
EaE I T I 10 G B B U T o e T e

B) 1
C)3
D) 4
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49) Among the given group of 4 images, which set of images can be classified as a group? / Ru w4 T F oy d+
B wgm Rt < v qug F o § anffae far s awar 27

aJe]i P

A} (1,2, 4)
B) (1, 2, 3)
C) (2, 3,4)
D) (1,3, 4)

50) Find the next term in the sequence: M10G, K9G, 18G,

. T @A TE AT e M10G, KOG, I8G,
A) H7G
B) G8G
C) G7G
D) H8G

51) Given below is a figure on the left with a pattern. Observe and find which of the three images on the right looks similar to
the top half of this pattern?/ == W et % #ra are e Uk Argfa 41 7 &1 e & & o7 a5 arf & ft f= F F F A o
- o = e & o aref ST R 32

a1 )
Aqu LA%AJ LASM P‘TW

A) 1
B) 2
C) Both 1 and 2 / &7 1 4T 2
D) 3
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52) Three out of the given four items are similar. Find the odd one. [ & w517 arrest § & diw v 39 21 Frsr arrey =m0

~

Hi

A) Y
B) Z
C)D
D) H

53) An employee of a company gets incentive for every deal he cracks. During one month, his incentives were 7/8 of his
salary. What fraction of his income came from incentives ? / T T 3w Fa=mt 7 7% vy =1 P g e e #5fem
(e = e A et e e P T et e e 0 T o e A e R M R T e R e

A) 8/9

B) 7/15
C) 15/7
D) 15/9

54) There are three words given here. The first lwo words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Harm : Benefil :: Harmony : ?

} 7t v A sre TR w #) wger 37 vier v R ot et B B s Bt # & 5w agt v & =g w6, 91 A o i
3T £ FAey @AY &, FA 5 e A ghy v W v g

21 AT < ATHIET ;- ?

A) Filthy /5=

B) Discord / F#71%

C) Hell / méorT
D) Wild / =77
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55) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Dog : Bitch :: Stallion : ?

[ et o i ores v w &) v o wee U PR Al & e 81 R ww s Rt § & 3w wEr e a1 =9 6], S5 A o

7 LR 11 R o

A) Duck /awa ' 1
B) Ewe / 9F

C) Sow / gadr
D) Mare / 7T=T

56) Among the given group of 4 images, which set of images can be classified as a group? / BT w4 R Faqe 4 4
e T Bt 7 e w3 =0 F aefigr o st w82

A) (1,2, 3)
B) (2,3,4) .
C) (1,3, 4)
D) (1,2, 4)

57) Find the missing term in the sequence: 32, 39, 46, 117, 202, 365, 684, ___ /%% T #T9aT ®&4T 779 F1: 32, 39, 46, 117,
202, 365,684,

A) 1251

B) 1206

C) 1391

D) 1368
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58) Ini a certain code, SJFK is coded as UNLS. What will be the code of the word DGEJ? / s fAférm 5= % SJFK %7 UNLS %
= # T2 A7 Rt st &1 vrsw DGEJ #1 T T grm?

A) FGEW
B) FKKR
C) FSDE
D) FSWS

59) In a certain code, DGHFA is written as EJMMJ, then how is SFGFI written in the same code? / T 3 7= & DGHFA 7T
EJMMJ = % Frar srrem &, &1 290t 92 % SFGFI it &t ey srman?

A) TILMR

B) QWEAS
C) KTNSA
D) KLYGG

60} Mr. Khan gave 20% of the amount he had to his mother. He also gave 10% of the remaining amount to his three
daughters. Half of the amount he had was tranferred to his sister's account and the remaining amount of Rs. 14,000 was
spent by him on shopping. How much money did Mr. Khan have intially (approximately)? / «ft wm F sy wrer vy #1f9r =61 20%
sreft ot o % Feomn) e ekt g€ R aw 10% A i Atz s o e s 7T AT s e e A g
forr ar e 14,000 7 Fi st 7if9r Ay TR whardt e w g G e e 7 it w5 e (@) et b o

A) Rs.42,000 / 42,000 =
B) Rs.39,989 / 39,989 =
C) Rs.40,000 / 40,000 7

D) Rs.38,889 / 38,889 %

Page24ofb7




Sel ld: 31554 43 9-12-2016 — Balch1 — Group4 For: Rajya Sabha Secrelarial, Parliament of India

Section 2 - PART B

No. of Questions: 80

61) The total number of Ministers, including the Prime Minister, in the Council of Ministers shall not exceed what percentage

of the total number of members of the House of the people? / wtafras ¥ =T it w3t Fi g wear v @ & aiear
L T L T T e P B 0 £ e o o e B T

A) Ten percent / &0 IfaoTT

B) Fifteen percent / 9ag widerd

C) Twenty percent / &% sfaare

D) Twenty Five percent / wgTs wiwere

62) How long a person who is NOT a member of the parliament may be appointed as a minister? \ 7= iR T T FT TEET
Tl &, T F = F e w R s w22

A) One year \ T F¢

B) As long as parliament permits \ S/ % #4% &afd @
C) Three months \ i+ @Tg

D) Six months \ &: AT

63) How many medals were won by India in the 12th South Asian Games held in Guwahati and Shillong, in 20167 / 2016 T,
TETETET 4 forerr & smertfore 42F afdror wfirars =i & we e e ofta 22

A) 259

B) 308

C) 220

D) 350

64) The International Kabaddi Federation (IKF) hosted the 2016 Kabaddi World Cup in which of the following states in India?
| AEErStr gt agra (IKF) 7 9o 7 e vt & F Frad 2016 Fagt fora 5 7 fomat 2

A) Andhra Pradesh / sita gaer

B) Maharashtra / wgm<mg

C) Rajasthan | Tr=redm™

D) Gujarat / [=reTd
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65) Which is the source of origin for river Bhagirathi? / #7 a1 v= arfie<ff 727 37 527 =% 8§72

A) Devaprayag { Z9747T
B) Gaumukh / T
C) Manasarovar / BTAHIET

D) Yamunotri / TR

66) India shares its border with how many countries? / a7 [ 391 7 7 37+ #9T F7 97y F9a7 272
A) Five / Ti=

B) Six /=g

C) Seven / o1d

D) Eight / @m=

67) Which of the following is a protecled natural harbour located 90 km away from the mouth of the Guif Of Kachchh? / s 7
AT T U Ty At st oF gare 7 90 Fft Fir 7 o aa webae gt A g2

A) Mormugao port [ THITA FZ7TE

B) Kandla porl [ F7=AT F277T2

C) Mumbai port / H&rs @=7Tg

D) Mundra port / zT #2778

68) The Civil Services Act of 1870, provided for the Indianisation of Civil services. Who implemented it in the year 18797/
AT wfEfer 1870, ffae et F a3 for wrar e an 1879 #% =7 Fs Ay fe are

A) Lord Curzon /7T T3

B) Lord Mayo / 7t &4

C) Lord Reading / @t= if=r

D) Lord Lytton / ATE forza

69) The Conslitution (Forty-third Amendment) Acl 1977 repealed article 31D of the Indian Conslitution'. Title the article. /
sl (et sorree) stfrfaam 1977, & ardor i@ T aqws 31 51 91 v 3 fem sa=as 3 ofd aarem)

A)  Equal justice and free legal aid / FHTT =TT 37 WU AT FETTAT
B) Living wage, etc. for workers / afit & o asigft wnfa
C) Saving of laws in respect of anti-national activities / v12 vt «farfEfamt & 2% & wwat Ff 27

D) Organization of village panchayats / T F=T=aT Ff =7
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70) Which Badami Chalukya ruler assumed the titles like Ururanaparakrama, Ranavikrama and Paramabhagavata? / 1
ATETHT SO TR 7 ISV, T3 S seqamree s feare fm e 42

A) Mangalesa / 7T

B) Kirtivarman | / i |
C) Vikramaditya | / FEsramfEes |
D) Pulakesi || / qerT 11

71) When an electric current is passed through copper sulphate solution, the blue colour of the solution gradually fades. This
is an example of / &1 FUT wete Beae & a7 e ware wiite fr smar &, @9 fers s e O diediy e smr g ug

A) Physical change / sitfe= aaema
B) Solubility change / grrsfieaT a=Ta
C) Nuclear change / 9XHTI 519
D) Chemical change / TraTa A FaTs

72) When was the decision to repléce Planning Commission with NITI Aayog announced in India? \ SITa & ST &80T 57
A sl & e 3 Faotar i eivworr s oy i

A) 2016

B) 2014

C) 2010

D) 2012

73) According to the annual Forbes Fab 40 list, who is the most valued Indian athlete in 20167 / a7ft Hree & 40 Tt F
SAATE, 2016 & T STEW qTed 17 TaeiE T 27

A) Virat Kohli / fare rest

B) M. S. Dhoni / wH.wH. &+t

C) Sania Mirza / sfaar fast

D) Saina Nehwal / GTEAT AgaTH
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74) Right to education is provided to all children belween six and / &: a7 =i i § & Bt avg & fr 3371 o Brer =7
A) Sixteen years / g 37
B) Fourteen years / sT=g I
C) Twelve years / 3178 a1f

D) Eighteen years | s1217% a4

75) Who among the following was the first Indian woman to win Paralympics medal in September 20167 / fidas 2016
A) Karamjyoti Dalal / S¥#==ifH &=1er

B) Deepa Malik / Frqr 7

C) Seema Antil / =T “ 7=

D) Pooja Rani / =T 71T

76) Name the defect of vision caused when cornea loses its perfect spherical shape. / ZfBaTT 77 A1 337 Tl F=T A7 727 WA
AT S STAT 21

A) Hypermetropia / greTvazriiar
B) Astigmatism / AfFzfzsn

C) Cataract / ®ifearEs

D) Myopia / TrrTToET

77) The period of low economic growth, when rate of unemployment and inflation rise above their coventional level
simultaneously, is termed as \ F& e =7 37 7T A qErhiE wAe 8 57 e wfpre i e s ekt & e e
A) Stagnation \ TREET

B) Stagflation \ HeTefifastiag w4t

C) Take-off Stage in Economy \ @r=zr=reat 7 aepgwnfrr =7
D) Deflation \ sm=6i#
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78) The chemical sometimes used in hospitals to sterilize surgical instruments and purify water in stinking wells is /

T TTUTA (ST SeawTe ATy afSveher SUECOT Ar EATES WA ¥ (o1 AFGATAT H S Agar Fei F T 9 w7 & o G
ST g, e § F Fm A 22

A) Potassium permanganate / TreTfiras woiiz
B) Potassium chlorate / Sr=1feraT #=1e

C) Potassium dichromate / STeTfarrs stz
D) Bleaching powder / == wrast

79) White meat is made up of muscles with fibers that are called fast-twitch. Which of the following is an example of white
meat? / ST W Hree-fET ATaE BIeAT aTer AIaa It § a9 grar g0 {7 & Fie 97 G 7y 0w swein 67

A) Poultry / Ty
B) Lamb /¥
C) Veal / =

D) Beef / &%

80) "Ramcharitmanas” was composed by which famous writer? / TR #1 g witg aes gy derey &y aar 91?2
A) Tulasi Das / g€t &9
B) Surdas / gLaTH®

C) Ras Khan / 0 =TT

D) Abdur Rahim Khan-e-Khana / 155 T2H GTH-T-8THT

i gy = A s e T o o Pt e e i e S

81) Thongchai Jaidee who voted as the 'Hilton Asian Tour Golfer of the Month' for July 2016 belongs to which country? /
atr=Te FE S e 2016 % o five uftraw o e oftw 7 wear & w0 7 S B aa an, ag B s @ d@dfga 22
A) Vietnam / fEaaem

B) Thailand / aréetz

C) India / area

D) Singapore / Rm
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82) Which of the following is the INCORRECT option pertaining to secondary colours of light (i.e. Primary colours when
mixed together in equal quantities)? / s % & Fit= 7 wawer fir i 7 & wfEe wow B & (ot wmafies a1 s 3
AT H T Ay e 2n)?

A) Cyan / foerme
B) Red /AT
C) Orange / #ii7=1

D) Magenta / #5i=1

B83) On which river is the Jog Falls located? / STmT wier ey a7t v+ foym 22

A) Tungabhadra { =T
B) Kaveri / #1a+T

C) Bhima / #=7

D) Sharavathi / #r7Tadt

84) Match the name of the books in list-2 with their corresponding wrilers in list1.

- Jistl list2 b
Name of the Writer Name of the Book
1-Bilhana a-Gaudabaho o
J-Kautilya b- Mudrarakshasa
3-Vishakhadatta c- Manusmriti ol
4-Bakpatiraja d-Vikramankadevacharita

U I B B e o e L M ot o e

Sa® FTATT | qEH W AT
REEEE) a-fr=ranE]
53 ERIET | b“jﬁﬂ’ﬂ‘ﬂ T
A-FAeETIT c-HAE T
A-gFat=ETAT AT

A) 1-a, 2-b, 3-¢, 4-d
" B) 1-b, 2-a, 3-d, 4-¢
C) 1-b, 2-c, 3-d, 4-a
D) 1-d, 2-c, 3-b, 4-a
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85) Supercomputer 'Param Kanchenjunga' was unveiled at which of the following organization? / §U7seges T7H F=AT T
FEHTEA o w e o fFar AT are

A) Sikkim NIT / frfam NIT
B) UT Kharagpur / IT, @gTqT
C) ISRO / ISRO

D) NID, Ahmedabad / NID, SIgaETaTE

86) "Laws inconsistent with or in derogation of the fundamental rights are void". The article of the Indian censtitution that

confirms the same is / "Kifera sl & T7a STHTT AT ST SAHTAAT FoeeT AT DA (AOTATAT &) ST 27 FHIEETT 7 R 77

A) 12
B) 13
C) 14
D) 15

87) A conducting wire offers resistance to the flow of electrons because / 7% T gaazi=T g o fer it s e
<

A) electrons drift through the wire / S@=Fziq aT% & wreaw & 9 wed 2

B) electrons repel each other / S@=ziq UH Z3¢ 1 Tfahiva F4d &

C) electrons collide with atoms of wire / Se@2ia, TTF & TEHTIE & TT4 ZHeT &
D) electrons attract each other / I T gAY FT ATHMN Fed &

B s e o o B

88) PM Nare.ndra Medi will inaugurate India's flagship biennial international oil and gas conference and exhibition,

PETROTECH-2016 in December 2016 in which of the following places? / werms=t 7z 74T f3=aw 2016 & wig % Wy
et sraveTda & A 9 Tee i waeiHT, PETROTECH-2016 7 Zgmen fAwferia vt 7 & @i w412

A) New Delhi / 7 feeeft

B) Kolkata / FTer=hraT

C) Bangalore / 1T

D) Mumbai / Ha
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89) Fatehpur Sikri was built by which Mughal Emperor? / Tzt #iw¢t 1 i B s o grer Fem amm am?

A) Akbar / AFT
B) Humanyun / AT
C) Jahangir / sigife

D) Shah Jahan / vIizsiaf

90) The system of land settelment and land revenue collection known as Permanent Settlement of Bengal was intraduced by

TN B i e o e A R e e e B o et e O e - s R

A) Lord Mountbatten / A% wrazaed
B) Lord Cornwallis / @12 Fidarfoe
C) Lord Willington / 7% e

D) Lord Linlithgow ( ATE Faframm

91) The world's first hydrogen-powered emission-free train which is set to begin service in 2017 was unveiled in / ZFT 77
TEAT BTEETSH-ATIAT A q7h 27 311 2017 # 737 = F°4 % oo 72 2, gt sgrfe By ar?

A) Japan / ST
B) Germany / 5T
C) China /5T

D) ltaly / zz=ft

92) As of 2016, which political party is ruling in the stale of Assam? \ 2016 F, T8 37 = |7 TTAHF o T7TF 7757 § T 47
@R |

A) BJP \ arsmT

B) Congress \ T

C) BSP \ @

D) Communist Party \ #egfae Tréf

Paged2of57




Setld: 31554 _43

9-12-2016 - Batchl = Group4 For: Rajya Sabha Secretarial, Parliament of India

v

93) Thillana is one of the constituent items of which of the following traditional dance forms? / faeamaT, Fwfofes wrafis ger
stferat # & Fras wifors sreeni & 9 79 87

A) Bharatnatyam / WeaAmeas

B) Kathak / &4

C) Manipuri / wfergf
D) Odissi / @rfEdT

94) Who among the following Indian players won the 2016 Australian Open Super Series by defeating Sun Yu of China? /
e # & o s et & <fie it @ g 7 g0 2016 StegforaTe s g de sftar?

A) Saina Nehwal / &TZAT FgaTe
B) P.V. Sindhu / €t.4t. fieg
C) Jwala Gutta / sFTHT 2T

D) Ashwini Ponnappa / @t trerer

85) Who of the following is said to be a pioneer in invention of Chloroform? / &% # & f# FIIwId & smfEehe & &= | st

A) Robert Koch / Tiaé e
B) Ronald Ross / TTes 7w
C) Otto Hahn / #rer &

D) James Y Simpson / 5/ =T fEremaT

96) Which of the following team has won the FIFA U-17 Women's World Cup, 20167 / faerferfare 7 & =i & i & FIFA U-17
nfger B w7, 2016 SfaT 22

A) Korea DPR / iftaT DPR
B) China / =17
C) Saudi Arabia | THET e

D) Japan / siTarT

Page33of57




~ Set |d: 31554 43 9-12-2016 — Batch1 — Group4 For: Rajya Sabha Secretanial, Parliamenl of India

97) In which state of India is the Kudremukh National Park located? / w7 % B w15 & gy 71 e figa 32
A) Karnataka / F=T2

B) Kerala / Fwer
C) Gujarat / TaA7I7

D) Rajasthan / 71am=am

98) Which of the following sectors is NOT considered in a closed economy model? \ 33 s=m=ar uiz= ¥, Bwr 7 7 B g e
e =2 Ber &2

A) Government \ 77T

B) Foreign Trade \ Bzsft sproe

C) Households \ 7=+

D) Firms \ %

99) Who wrote the book Natya Shastra? / famma #rer aer e Pt 272
A) Abhinava gupta / #fam 8

B) Thiruvalluvar / fa=a=1ar

C) Markandeya / ad=7

D) Bharata Muni / w7 7=

100) How many islands are inhabited in the Nicobar group of islands? / FmET £

r*ﬁ'ﬁﬁwﬁqﬁﬂﬁ'%'?
A) 5
B) 15
C) 22
D) 10

Frerifa & o
=t =T A A e s AT 2015-20 F aea aea T

A) UDAAN
B) FMS
C) SEIS
D) MLFPS
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102) Ayurveda, the traditional hindu system of medicines consists of how many parts? / =3T3 it e &g worrsft, s W
T A arTfier €2

A) B

B) 18

c)8

D) 13

103) Viswanathan Anand drew his first round match against whicﬁ Italian player in Norway Chess Tournament 20157 /
e sre 7 919 oS gatie 2015 § Frm oot fenst & fawms oo ves v 5 9 37 R a1

A) Magnus Carlsen / #T# Frerer

B) Alexei Shirov / wereas farira

C) Fabiano Caruana / &&=t Fear

D) Veselin Topalov / FE & AO==

104) Who is known as the 'Father of Indian National Congress'? / "= Trgir Fiarg 71 far” fF #gr ST 272
A) Bal Gangadhar Tilak / aTet simere foes

B) Womesh Chandra Bonnerjee / 19T Wg Tl

C) Mr. A.O. Hume / 4. A.O. &%

D) Dadabhai Naoroji / EreT4TE FTISiT

105) The Dandi March signified the start of which National Movement? / =T 71= f&r wrgier ai=ter &1 zofar 872
A) Non-cooperation movement / STHEINT SiETe

B) Indian Rebellion of 1857 / 1857 =T ‘ATeeis avrae

C) Tribal Movement / ST stgrere

D) Civil Disobedience Movement / Tfe=rar s==ir #igrem

106) Dassam falls are formed out of which river? / & ST & 74T & =war £7

A) Kanchi / %7t

B) Godavari / TraTer{t
C) Ganga / 317

D) Kaveri / w1y
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107) By how much percentage The Union Cabinet, Governmenl of India increases the limit for foreign investment in Stock
Exchanges? / A1 Jv=17 i Fa e e 7 e =vaet o fAzefy Faer F diur 7 FBae wfFer w1 zsre Fen?

A) 15 to 20% /15 & 20%
B) 5t0 15% /57 15%

C) 10to 15% /10 7 15%
D) 20 to 25% / 20 7 25%

108) The central bank of the country \ o1 a1 #i7 3=

A)  cannot influence deposit creation \ STHT F=7 =1 WATET 727 77 THAT §

B) can influence deposit creation \ STET I3 FT WATIET F7 70T 2

C) can not influence the volume of money in circulation \ &= =7 7= & W@ T waTfEa T30 77 77 2

D) can influence deposit creation only now and then \ 3= s <= a1z i 7 3757 1 TATET 77 7541 2

109) In which year, the firsl constitutional amendment took place? / AT T Forram e v & gar 417

A) 1947
B) 1951
C) 1956
D) 1962

110) Reservation policy in India sirengthened through statutory bodies for / #ifafé srearsit 3 wreae & sroer # smeror i i
s o werew A= AT E

A)  promoting cultural inequality / =TT FHRATTAT A1 T2T=T 27 4 Fm

B) amelioration of the conditions of the depressed classes / affr ami £ Rafd 7 qeme =7+ & By

C) pushing certain classes into backwardness / & AT a1 i woret 7 f7m

D)  promoting mutual suspicion and distrust / armT =g & afEsams 7 azmE 29 % For

111) As per the demand law, with other things remaining constant, when price per unit of a good falls, its \ AT e & AT,
sy st 35 fe o vt ey = Wi = At i o i e ot 8, orf

A) quantity demanded will remain constant \ A7TiE AT R w2t

B) quantity demanded will decrease \ @71 wrT  Feft Zrff

C) quantity supplied will remain constant \ arafa wr=m & fege T{ﬂﬁ

D) quantity demanded will increase \ s 1fa #1am 5 3f3 grft
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112) Bifocal lens is the invention of which of the following scientists? / fewrEdt =g Ferfafaa FafFet & & frwar arfaeme 22

A) Benjamin Franklin / Zwifas st
B) Alois Senefelder / a=iEe AT
C) William Gilbert / AT fmae

D) Alexander Forsyth / SeFsi=T BIeaTsd

113) In which year the states of India were reorganised based on the recommendations of the State Reorganisation

Commission (SRC)? \ Trs grta st (SRC) #1 et 3 sneme ov wmed & et &1 g ad 7 qentisa fmar w912

A) 1956
B) 1950
C) 1954
D) 1952

114) Which team won the 2016 Women's Asian Champions Trophy in Hockey? / farr & 7 giet & 2016 wigamat & ufdrams
Ffegere i et ?

A) China / =
B) Malaysia / wrerfsraT
C) India / amea

D) Japan / STTH

115) India will play for a five-test home series scheduled in November-December 2016 against which of the following
countries? / FEaT-feHaT 2016 ¥ A~ UF TiF-e62 5 J@eT 7 Ao Aerferiad g9t 7 # e fRems w5?

A) New Zealand / =sfids
B) Australia / #itreferar

C) England / £

D) Sri Lanka / ¢
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116) The Indian Union is an indestructible Union of destructible States. Which of the following couniries is an indeslructible
Union composed of indestructible states? / e wr sseqsfier Trsat v sifa=mofy #er &1 Frerferfre 2o § 7 43 ar s@of
Tt # e v afEeeft 5= 27

A) United Kingdom / gaTze= farsw
B) United States of America / 59w 717 sHF=T
C) Germany { ST+t

D) France / %

117) The Oath to the Union Ministers is administered by the / 3T #3001 v srver =% 71 Firss 2 Rerars sy 22

A) Chief Justice of India / WT7w F H=a =rarefier
B) Lok Sabha Speaker / FTFIAT AETH

C) President / 7Tgmfa
D) Rajya Sabha Chairman / 777747 T FraTT (0

118) When copper articles are kept in open for long, they turn green because of formation of: / 5/ iz i T =& 7wy I Fr
L R R 0 o e e B B

A) Basic copper oxide / @ M AT

B) Basic copper hydroxide / EIEENCnuES A BB o
C) Basic copper carbonate | F3 FT¥ FaM=

D) Basic copper sulphide / #f&mr 1T aewes

119) A metal essential for smooth functioning of our nervous system and whose main source is sea- water is / gATY 75T 74

6 o A e e . B B e - P 2 e 4

A) Magnesium / Frirformr
B) Zinc / 5T

C) Sodium / Fif

D) Iron /@TET
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120) To which state is the dance form named "Nati" related to? / “=Tét" Avae Jeg =il #17 & Tr=a § Hafea 2

A) Jammu-Kashmir / sreq-seei

B) Jharkhand / i@

C) Himachal Pradesh / fgam=rer waer
D) Haryana / gfizmom
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Section 3 - PART C

121) Identify the antonym of the underlined word:
The siraight road leads to the forest.

A) long
B) short
C) crooked

D) uneven

122) Identify the antonym of the underlined word:
We walked forward in the darkness.

A) backward

B) fast

C) further

D) ahead

128) Fill in the blanks with correct option:

We stayed Singapore for one week.
A) al

B) in

C) to

D) inside

124) Fill in the blanks with correct option:
The students came to the professor

guidance.

A) by
B) with
C) for
D) to

-

*

No. of Questions: 60
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125) Fill in the blanks with the correct option:
When you arrive, | at the airport.

A) have waited
B) shall be waiting
C) shall wait

D) will wait

126) Identify the Simple sentence from the following options:
A) If you are late, you will miss the show.
B) Rohan is a prafessional dancer.

C) He regretted that he had acted rudely.
D) You have to pay the bill, or return the goods,

127) Identify the simple sentence:

A) She grabbed the child's hand and ran,

B) He grabbed at the branch, missed and fell.

C) Jim grabbed a cake from the plate.

D) | managed to grab a couple of hours' steep.cn the plane before | landed.
128) Identify the antonym of the underlined word:

He confided in his friend about his financial crisis.

A) buddy
B) mate
C) acquaintance

D) foe
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128) Choose the Pronoun in the given sentence:

The children were arguing among themselves.

A) among
B) were
C) arguing

D) themselves

130) Fill in the blanks with the correct oplion:

You would be better attired for the interview, if you a suil,

A) should wear
B) had worn
C) wore

D) wear

131) Choose the correct option to complete the senlence:

We need lo up the freezer.

A) plough

B) stock

C) limp

D) stuff

132) Identlify the correct synonym of the underlined word:
He felt very heavy and sluggish after the meal.

A) Active
B) Nostalgic
C) Lethargic
D) Elated
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133) Identify the error in the following sentence. The error, if any, will be in one part of the sentence, the number of that
part is your answer. If there is no error, mark your answer as (D). (A) Computer skills / (B) makes you far / (C) more
employable. / (D) No Errar.

A) C
B) D
C)B
D) A

134) Choose the Noun in the given sentence:
Several planes were shot down by enemy fire.

A) down
B) several
C) enemy

D) were

135) Read the sentence carefully and select the underlined part that is incorrect:

When her sister won the student body election in her senior year, it immediately established herself as one of the most
influential students in her class.

A) as one

B) most influential

C)it

D) immediaiely established

e AL S AL 8 ke 0 0y

136) Choose the correct meaning of the phrase / idiom underlined in the sentence:
At the political rally the crowd got out of hand and there was almost ariot.

~ A) out of reach
B) out of control
C) angry

D) frustrated
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137) Identify the correct synonym of the underlined word:
Please resume what you were doing.

A) Hasten
B) Continue
C) Refuse
D) Return

138) Choose the correct meaning of the phrse / idiom underlined in the senlence:

Uniform civil code is a burning question of the day.

A) an annoying question

B) a hotly debated guestion
C) a puzzling guestion

D) a difficult problem

139) Choose the correct option to complete the sentence:

Vegelarians have an for eating meat,

A) affeclion
B) enthusiasm
- C) attraction

D) aversion

140) Fill in the blanks with the correct option:

Satyavathi agreed to marry him on ____condition; _____King agreed to it with _____ heavy heart.
A) a, a, an

B) a, the, a

C) an, the, a

D) a, an, the
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141) Fill in the blanks with correct option:

We sat the shade of a beach umbrella.

A) under
B) on
C) near

D) below

142) Fill in the blanks with the correct verb:

The computer screen eighty characters per line.

A) have displayed

B) displays

C) display

D) displaying

143) Change the complex sentence into a compound sentence:
The house which is very old needs immediate repairs.

A) As the house needs immediate repairs it is very old.

B) Unless the house is very old it needs immediate repairs.

C) The house is very old and it needs immediate repairs.

D) The house that is very old heeds immediate repairs.

144) Fill in the blanks with the correct form of verb:

They ____me that they probably wouldn't be coming.

A) tells
B) told
C) tell
D) telling
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145) Fill in the blanks with the correct verb:

The tesls ___identical to those carried oul |asl year.

A) is
B) was
C) are

D) has been

146) Choose the Noun in the given sentence:

She is a person who hates to make mistakes.

A) mistakes
B) hales

C) who

D) is

147) Identify the meaning of the underlined phrase/idiom:
He was found guilty,but he got off easy.

A) light sentence
B) imprisonment
C) life imprisonment

D) heavy sentence

148) Fill in the blanks with the correct option:
The Ramans in the east

A) lived

B) live

C) living

D) lives
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149) Fill in the blanks with the correct option:
He made a study of Shakespeare as

A) the

B) no article
C)a

D) an

150) Choose the correct form of the verb in brackets:
| (work) last night when you called.

A) have worked
B) worked
C) was working

D) will work

—t - e i ST

151) Fill in the blanks with the correct verb:

Tom a wide circle of friends and acguaintances,

A) having

B) has

C) have

D) were having

152) !denti_f)'; the correc
A) Act

t syh__o'nym: Dither

B) Agitation
C) Exaggerate
D) Fight

playwright and as man.

T

Paged7of57




SelTdr 3155443 G-12-2016 — Balch1 — Group4 For: Rajya Sabha Secretarial, Parliament of India

e

153) Fill in the blanks with the correct option:

One night, a thief broke into rich merchant's house and shacked all villagers.

A) a, the
B) the, a
C)a, an

D) an, a

154) Fill in the blanks with correct option:
The accident occurred subsequent my deparfure.

A) in
B) for
C) on
D) to

155) Fill in the blanks with the correct option:

The teachers asked the siudents lo hands.

A) shaken
B) shake
C) shakes
D) shook

156) Fill'in the blanks with correct oplion:

He touched the subjecl in his speech.
A) in

B) upan

C) with

D) for

Page4Bof57




Set Id: 31554 _43 9-12-2016 — Batch1 — Group4 For: Rajya Sabha Secretarial, Parliament of India

149) Fill in the blanks with the correct option:

He made a study of Shakespeare as playwright and as man.

A) the

B) no article
C)a

D) an

150) Choose the correct form of the verb in brackets:
| (work) last night when you called.

A) have worked

B) worked

C) was working

D) will work

151) Fill in the blanks with the correct verb:

Tom ___ awide circle of friends and acquaintances.
A) having

B) has

C) have

D) were having

152) Identify the correct synonym: Dither
A) Act

B) Agitation
C) Exaggerate
D) Fight
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157) Change the given sentence into a complex sentence:
The girl near me is my friend Deepa,

A) The girl near me is Deepa, my friend.
B) The girl near me is my friend, whose name is Deepa.
C) The girl close to me is my friend Deepa.

D) My friend Deepa is the girl near me.

158) Choose the word that is spelt correctly and fill the blanks:
We have to believe in an power who runs this world.

A) omniscent

B) omniscient

C) omnescient -

D) omnicient

159) Fill in the blanks with the correct option: She was primarily ______ scientist.
A) an |

B) No article required.

C)a

D) the

160) Choose the word that is spelt correctly and fill the blanks:
The car was driven by a '

A) chauffeur

B) chauffer

C) cheuffar

D) chaufaur
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161) Identify the correct synenym: Industrious
A) Diligent

B) Patience

C) Compelence

D) Inteliigence

162) Fill in the blanks with the correct option:

How kilograms of rice do you want?
A) many
B) some
C) much

D) any

163) Fill in the blanks with the correct option:

She has five other hats the one she is wearing now.

A) between

B) besides

C) after

D) beneath

164) Fill in the blanks with the correct form of verb: Theirefforts ____ painful to waltch.
A) were :

B) was

C) has been

D) is

e
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165) Choose the correct form of the verb in brackets:
Mira said that she (complele) the work.

A) had completed
B) completed
C) will be completing

D) has completed

166) Choose the word that is spelt correctly and fill the blanks:
The farmers found it to repair their thatched roofs before the mensoons set in.
A) neccesary

B) necessary

C) necesary

D) nessecary

The waiter was furious at being given such a paltry tip.

A) Trivial
B) Major
C) Grand
D) Worthy

168) Choose the word that is spelt correctly and fill the blanks:

Her mother gave her a list of grocery items and some things to be brought from the market.

A) miscalleneous
B) miscelanous
C) miscellaneous

D) missallanous
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169) Identify the antonym of the underlined word: He was dejected when he heard the news.

A) elated
B) depressed
C) gleeful

D) impressed

170) Complete the sentence with a possessive pronoun:

My drawing is better than

A) thal
B) yours
C) those

D) mine

171) Identify the correct synonym: Stutter
A) Promote

B) React

C) Recover

D) Stammer

172) Filll in the blanks with the correct option.
We the tickets for the movies.

A) books '
B) book

C) booked
D) booking
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173) |dentify the antonym of the underlined word;
The heart surgery was done by a competent surgeon.

A) capable
B) unqualified
C) eminent

D) clever

174) Read the sentence carefully and select the underlined part that is incorrect:

The extraordinary attention to detail needed by pilots in flight are essential to their survival.

A) are essential
B) to dstail

C) to

D) their

175) Read the sentence carefully and select the underlined part that is incorrect:

The range of electric cars has always been smaller than gasoline-powered cars.

A) gasoline-powered
B) has always been
C) smaller

D) of

= mmm s wszocnes mEmeprvess L

176) Identify} the antonym of the underlined word:
After two flims his popularity began to dwindle

A) decrease
B) abate
C) increase

D) exaggerate
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177) Choose the correct option to complele the sentence;

After the accident they found him lying an the road.

A) immobile
B) calm
C) erect

D) comforlable

178) Choose the correct option ta complete the sentence:

the power cuts, the hospital continued to function normally.

A) Despite of
B) Despite

C) Instead of

D) Inspite

179) Identify the meaning of the underlined phrase/idiom:

The minislers pul their heads logether lo formulale new schemes.

A) compiled
B) consulted
C) concerted

D) concluded

180) Fill in the blanks with the correct option:

There is food in the house.

A) afew
B) a little
C) few
D) little
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| ] Question Paper No: 31554 43
1 [ o oot L b, b N Y i Ei: i
Answer Key
I A 21. A a1. C
2. B 2. A 42. ¢
3. A 23. B 43. €
4. A 24. B 44, C
5. ¢ 25 @ 45. B
6. B 26. C 46, A
7. B 57D 47. C
8 € 28. C 48. A
9. B 29. B ) 49. B
10. € 30. € ' 50. C
1. D : 31. B 51. B
12. B 32. A 52, A
13. D 33. C 53. B
4. € 34. B 54. B
15. D _ 35. A 55. D
16. D | 36. C 56. A
17. B 37.B 57. A
18. B 38, C 58. B
19. D 39. A 59. A
20. D 40. D 60. D
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L

61. 1 85. A 109. B
62. D 86. 13 1o, B
63. B 87. ¢ 1. D
64, D 88. A 112, A
65. B 89. A 3. A
66. C o0, 13 114, ¢
67. 13 91. B 15. €
68, D 92. A 116, B
9. © 93. A , 1n7. ¢
70. A 94, A 18, ¢
7 D 95. 1 9. ¢
7. 8B 96, A 120, €
73 B 97. A 121. ¢
74. B o8B 122. A
75. B 99, D | 123. B
76. B 100. D 124. €
7.1 _ 101, ¢ 125. B
78 A 2. ¢ ‘ 126. B
79. A 103, ¢ - 127. ¢
80. A 104, ¢ 128. D
81. 1 105. D - 129. 1)
82, 13 106, A 130. ¢
83. D 107. 1 131. B
84. D 108, B 132. €
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133, ¢ 150. ¢ 167. A
134, € 151, B 168. C
133, € 132, B 169, A
136. B 153. A 170, B
137. B 134, D 171. D
138. B 155. B 172. ¢
139. D I56. B 173, 13
14 B 157. B _ 174, A
1L A 158, 13 o 175. A
142. B 159, C 176. C
143, € 160. A 177. A
14, 13 161, A 178. B
145. ¢ 162. A | 17998
46, A 163. B 180. D
47, A 64, A

148. B 165, A

149, B 166. B
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Section 1 - PART A

Mo. of Questions: 60

1) Which would be the first term of the given sequence thal would have & in ils ten thousands place: 4, 25, 64, 121, 196,

cieteesenes 2 &Y TE SEET H AT UEAT FEAT FIT T G SAH SHF T g w4 H 6 O 4, 25, 64, 121, 196, .venennn. ?

A) 82rd | B2F
B) 80/ 80F
C) 79" / 795
D) 81/ 81%F

2) Ifin a certain code language, “VOICE” is written as 54", then how will "BOTTLE” be written in that language? / aif% 7=
R se-wrar 7 “VOICE” w1 “54" % &9 ¥ ey sirar 2, & 39 arar # "BOTTLE” =1 &% fFray srom?

A) 71
B) 75
C) 70
D) 74

T e g o S R b B e TS T e T e s n— e D e e e tem e

3) f numbers from 1 to 6 are written on 6 faces of a dice, then which of these cannot be the sum of numbers written on

opposite faces? [ af% 1 & 6 @ T H&aT UF YT % 6 Gerw T o W & a1, T F Fy ar e e g SrE w0 dearsi S ant

A) 6
B) 2
C)3
D)7
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4) In how many different sets can the given set be classified if classification is done on the basis bf number of unigue
alphabets in term: (BRICK, LOVELY, CREATE, EVEN, EVERY)? / fma e ot # Rror o ssgger 57 i o s A
8 af wfiror e w2 o s 3ot £ whear % avr o e T 2 ((BRICK, LOVELY, CREATE, EVEN, EVERY)?

A) 2

B) 5

C)4

D) 3

5) IF"PAT" is written as 231, “TON” is 536 and "NPR” is written as 186, then whal is code for “NT"? / af% "PAT" %1 231 F =7
5 forar strar 2, “TON" 771 536 & = & sl “NPR" 71 186 # #1 i oy 7T &, 1 “NT” 1 5 77 29

A) 26

B} 36

C) &1

2) 13

6) A figure is given on the left with a pattern. In which of lhe four images on the right we CANNOT find this pattern as a part

of that image? /218 3 o, et 3 Ara ey 3 4 w21 ard sie o s Rt i 3 ot gt v o o R s o 1 o1 et vl e
HAFT?

= = |

A) 3
B) 1
C) 4
D) 2 |

7) Among the given four options, three are related in a way. Selecl the oplion thal is odd one out. [ Fm mm s1 By 3, 7
e Tt i o et 21 3o e &1 s 9 S A i 2

A) 343

B) 125

C) 1001

D) 729
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8) Find the option that is not similar to the elements in the given set: (25YZ, 21UV, 11KL, 13MN). / 3% f&==7 1 sitq %L 11 27
T e F Al F G Ael g (25YZ, 210V, 11KL, 13MN) ki

A) 18RT
B) 10JK
C) 20TU
D) 16PQ

9) Among the given group of 4 images, which set of images can be classified as a group? / & 7 4 =7 # 1, =i & &
HHFE F 7F g § i R s e §2

3 4

A) (1,2, 3)
B) (2, 3,4)
C) (1.2, 4)
D) (1, 3, 4)

10) If Chintu is 135% fatter than Gopal, then Gopal is thinner than Chintu by / af& iz Tramer & 135% #ier & av a1 =g &
A) 52%
B) 37%
C) 57%
D) 25%

11) A point P outside a circle is taken. Two lines from P are drawn to circle such that both lines péss through the centre.
Which of the following is true? / Wa e % aTex v fag P f&ar wam 21 P 3 @ a1 e ey o=t 7€ € f 21 v ¥z & ariva
BT & 7 & & 17 w7 way &2

A)  Both lines intersect circle in three points / 31T vaTt fi= et # g o sfa=afaT w==fT 82

B)  Radius of circle is less than 2 cm / 37 &7 Fiwar 2 7 & 797 &

C) Point P is at a distance from centre that is equal to twice the radius / fdg P ¥z & fS=ar & anT & ElTI‘q’T T E
D)  Both lines are coincident / =T YaTT wfETET &
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12) Three out of the given four items are similar. Find the odd one. | & w0 5% srgedy § i g 797 81 o wmew f1 ewm
T

A) V
B) U
C) S
D)T

13) There are three words given here. The first two words are related in a cerlain manner, Selecl the proper word among the
given four allernatives which bears the same relationship with the third word as in the manner first and second words are
related.

Terrestrial : Earlh :: Jovian : /

R A e A L =R o B o B T 7 B e =35 I A e N e e B Bt R e 1 e e T s S e
EIR LR En ki 21 P e = B ) | et R R e R

Tz et s S

A) Mars [ 5717
B) Mercury / T4
C) Venus / g
D) Saturn / orf¥

14) There are five members in a family viz Neela, Geela, Rita Tina and Sita. Neeta is half the age of Geeta and thrice the
age of Rita. Sita is younger than Tina by 3 years. Tina is 8 years younger than Neeta and Sita is 16 year old studying in class
X M all of them stand in ascending order of their ages, then the arrangerent will be: | o witens § ot saar £ Fraer: S,
afvaT, Frz, FAT A A AT A 5w i T aw Ay F i e e o 2 fian, S R e i 3 A g 2 e e
8w Y & A A A 3w 16 T 7 v Ay wet A § vz w2 31w it eney 3w Ay ww f = F, a1 A (1 i
FATA) 7T ZTIT?

A) Sita < Geela < Tina < Neeta < Rita / #faT < i1 < #ia7 < #7177 < for
B) Rila < Sita < Tina < Geela < Neeta / fizr< #far < #mv < fmr < Aiar
C) Rila < Geeta = Tina < Neela < Sita / ¥1=1 < a7 < #ar < a7 < #f=r
D)I Rita < Sita < Tina < Neeta < Geeta / #121 < 3ftaT < #7771 < =T < AT
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15) Three of the four following words belong 1o the same group or class in a certain manner. Find the odd one out. /

Frarferfre = areat & & e o P ot & o g aag O an F st 8 {ew w7 e k
A) Vietnam / e

B) Chile / =T

C) China / &1

D) Laos / AT

16) Three out of the given four items are similar. Find the odd one. / B e 9=t # & a9 w & 81 ¥ w2 £ vg=m F2
A) 121

B) 131

C) 141

D) 111

17) Four similar loocking patterns are given. Observe closely and find which of them are actually different. (34178563,
34187563, 34178563, 34178563) / =TT W St ey amer et 2w o #1 ey weber 2R ofie waw errys o 2ol & i e &
farer 21 (341786563, 34187563, 34178563, 34178563)

A) Fourth and Third / =T e dieer
B) All are similar / @7 #oTe &

C) Second and Fourth / g S =TT
D) First and Third / TgaT #I¥ aeT

18) Given below is a figure on the left with a pattern. Observe and find which of the three images on the right locks similar to

the top half of this pattern? / = e et ¥ wva ard A s sl 47 a2 &1 e & 39 o qamt e s i fim d s ar s
= =7 T & of i o S famgar 27

[ 3]

A) 2
B) 1
C) Both 1 and 2 / &1 1 47 2
D) 3

‘r?ul Ilf"ﬂll‘—’l

Page5of56




Sel ld : 31554 _44 9-12-2016 — Batchd — Group4 - For: Rajya Sabha Secrelarial, Parliament of India

18) There are three words given here. The first lwe words are related in a cerlain manner. Select [he proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related,

Neurologist : Brain :: Gastroenlerologist : /

R o el AL = o e B ot O = e A 0 i I e VO s P B BT B e D e e (R e T
a3t e A R 21 B @ 7 wgAr S gy vies At E)

T = o A~ = s
L A I =S v CPOR] o L= K D I =

A) Kidney / 1zt
B) Liver / for
C) Bones / gfZ=1t
D) Eyes / =t

20) P and Q can do a piece of work in 6 days, S and Q in 8 days and P and S in 10 days, P alone can do it in / P =7 Q 7
T A1 6 o 3 F7 o £, S 3 Q 8 B2 F v P v 510 e & 57 qmaA 7| P e 29 S s § Avr?

A) 330 /19 days / 330 119 far
B) 410/13 days / 41013 &=
C) 319/5 days / 319/5 f2=

D) 240/17 days / 24017 =

21) Below is given an opened up dice. Which of these pairs of numbers will be on opposite faces? / #=r v @t Ut (27ET)

T AT 81 T A At A w7 SEy Fedia oAt gei?

2 5% I 4

A) 1and 3/147 3
B) 4 and 6 /4 s~ 6
C)3and6 /3376
D)2and 3/2%73
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IFoIIowing are the conditions for selecting assistani-engineer in a
Software Firm. The candidate must: )

(i} be a graduate in rmechanical engineering with atleast 70%
marks.

(i) be a post-graduate with 75% marks.

(iii) have a work experience of 3 years post gualification.

!{iv) have secured atleast 80% in the seleclion interview,

|

i[n the case of a candidate who satisfies all the conditions:

[(A) EXCEPT (i) above, but has work experience of 5 years after
gpc:ast-graduam:ml then the case may be referred to General
Manager.

((B) EXCEPT (ii) above, but has experience of 7 years or more
\after post-graduation, then the case may be referred to Vice-
President.

(C) EXCEPT (iv) above, but has more than 90% in Class X, then

‘the case may be referred o President.

Based on the above information and criteria given in each of the

following questions, you have to take decision. These cases are

igiven to you as on 1st November, 2016.

iﬁ?ﬁﬁlﬂﬁwﬁeﬁwﬁ:ﬁﬁ@w—wﬁw%w%
‘ﬁqkﬁﬁflﬁﬂﬁﬁrﬁiﬁr;

!(i)am‘i#aﬁnrm% ST AT AT TSt § 0 ‘
\(il) 75% #eT & | UF GTES-UHUE FAT AR

(i) TR % aTe 3 W T FETGAT ST TR

(iv) e Sevey B 99 & 80% griE T ST TR

FATE T SR [QATY AHT 9T T 9T HeaT 8

(A) Foram FueiEE (i) F, S Tiee-tspue F 978 5 "1 &
FTATAE g a7, HTHEAT AETIEy® S 7

(B) foramar e (ii) %, wrfE Tree-sjuerT & are 7 47 s9e
srferer | T FTATTAT & AT, WTAST TITETE FT AT I

() Foramar i (iv) , i et et 0% & B & |
T, HTHEAT AL aT F77 AT

St ST e 3 R o s wa # R wredst
& ST T AT o ST g T /T e ST et
1, 2016 =t aréra 7 few 70 &) '_

22) Madhu Akolkar secured 71% in mechanical engineering and 77% in post graduation. She scored 90% in selection

interview. Macdhu is a fresher searching for a suitable job. She should be :

| Y T T A S Agen 7 71% A7 qre-aspre # 77% gt B &1 soe feym Sevsg 7 90% Wi f&w) wep v

A) referred to President, / #reast & qTe ST STAT AT

B) referred to Vice-President / STTesres & TTer &1 SITHT 12T
C) rejected | 1 AT ST ATRT

D) selected / FAT STAT HTfRT
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23) A dice is opened up to represent its faces in a singdle view together. What alphabel would be there oppesite to T on the
dice? / U AT v Y guA F AT vt I w5 T YT (ST2%) AAT 24T 21 0w T B e AT 2t S

P
| R T
Q z |
s
A) S
B) P
Gy
D) R

24) Among lhe given group of 4 images, whmh sel of images can be classified as a group? / Fr"rT T4 ﬁr?ﬁ w3, Fe o
THFF AL 0 7’111%' H wnfe Fvar s v 22

A) (1,2, 3)
B) (1,2, 4)
C)(1,3,4)
D) (2, 3, 4)
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':For admission in College for MCA course, the following conditions
apply. The applicant should:

(i) be less than 30 year of age as on 11-11-2016.

(i) be a graduate in Computer Applications (BCA) with atleast 86%
marks.

\(iii) have scored atleast 85% marks in the Common Entrance Test
(CET).

(iv) have scored atleast 65% marks in the interview.

In the case of a candidate who satisfies all the conditions:

() IfNOT (ii), but has a work experience of atleast 2 years and

\graduation score more than 70%, then be considered for admission

lin 2nd shift.

“(b) If NOT (iii), but has scored more than 60% in Common Entrance
’;Test and more than 90% marks in class XlI, then be considered for

|

]admission in night (shift) college.

|

In each of the questions below information of a candidate is given.
You have to take one of the following four decisions based on the

linformation provided and the conditions given above.

'All the cases are given to you as on 11-11-2016. You have to

indicate your decision by marking answers to each questions.
|

ma‘*—rr?ﬁrw MCAﬂTﬁaﬁmﬁ‘aﬁ%Fﬂ ﬁl’ﬁﬂ'ﬁm"'ﬁﬁ
EEELaa

(i) ¥ &g 11-11-2016 6t ATHE BT 30 AT T FH FIAT
|

\(ii) T 7 T FH 86% HFI F T AL AT FGZT
R (BCA) # Ispue g SR

}(i‘li) FT FIAT UaH 22 (CET) ¥ F0 & 77 B5% 3% WK
(iv) Ft Eexg 7 & 65% s T T S =T
stﬁm#ﬁmﬁaﬁmw?g:

(a) Rram (i) &, AT 579 § 0 2 97 51 514 4099 &
e Srsqer ST 70% & srfl & A, geve free F arhEer &
form A= BT ST 2 '
(b) Framar (jiiy 3, Sfemr stae vde o 7 60% zreaﬁrqmﬂ-r
AT AT H 90% S H T8 ThY AT & a1, T
\(Forez) =itast & arfeer & g Beme e smar &

3 o A o v anfieaT £ SEE S e E |
(ST FUTSET FATS TS ST F IULCH oAl b SETL T
e = STt 7 ¥ U ST e

AT THT AT 11-11-2016 FF ariim F7 fw o :
TEHF VT 3 I A BT AT AT fAore i Feer
;g‘ml

25) Candidate's Information : Arjun Reddy is a graduate in Bachelor of Computer Applications (BCA) with 78% marks. He

has a work experience of 3 years in a software company. He has scored 89% marks in Common Entrance Test and 71%

marks in the interview. He was born on 20-1-1988. He should be:

| FFHTEATE HT SATAHTET: AN (g1 oA AT YT U e (BCA) W 78% =1 % #140 U US{Ue 31 34 UF aiwedas ol 7 3 #rer
T HE ATAT 2| THA FIAT UeH ¥ 7 89% & ¥ T °H 71% i wiw 37 §1 7% 20-1-1988 71 T=7 2397 471 39

A)  considered for admission in the 2nd shift / g7 foree % arféer & Fo B Gy sar =z
B)  considered for admission in the night ( shift ) college / Tra (firvz) wieer & arfarer & o = B s =iz

C) admitted / rfEmT AT AR
D) not admitted / aTfamT 7% &1 =FTfET
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26) A sel is given, (64, 43, B1, 36, 16). The sets given in options are similar to it in a certain way EXCEPT one. Find the seat
that is different. / T #rz 22T 1T & (64, 49, 81, 36, 16)1 7= & Fm mw feret & 3 v =1 myeaw, 9w v FfEe 6 o e §1 9
AT AT AT 9 AT AT F

A) (100, 326, 576)
B) (121, 169, 196)
C) (225, 256, 289)
D) (144, 361, 400)

27) Find the 100" term of this sequence: 4, 3,2, 1,4, 3,2, 1, 4, 3, ..o | =T v i 1008 waT s A 4, 3, 2, 1, 4, 3, 2,
[0 Lt p——

A3

B) 4

c) 2

D)1

28) A man rides 20 kmph and reaches his office 6 minutes late. The next day he increases his speed to 25 kmph and
reaches office 6 minutes early. How far is his home from his office ? / v st e watdt we 20 Fft wffy szr £ wfF 7 w7 o7

A) 30 km /30 Feft
B) 15 km /15 Faft
C) 20 km / 20 Fafy
D) 35 km / 35 T
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29) A figure is given on the left with a pattern. In which of the four images on the right we CANNOT find this pattern as a part

of that image? / aTE e T et 3w v e A ard 21 ar€ A i = Rt F & Rt gt v o 6 Ry ¥ = 1 ed 7l fe
qFAT?

= <ok S TR

A) 2
B) 1
C)3
D) 4

30) 80 litres of milk has 90% milk concentration. How much water be added to make its concentration 80% ? / 80 et g&r ¥
e ATRAT 90% 21 e AT 80% Fe F R gud A Wt fwmrar srar =gn?

A) 8 litres / 8 #ffev

B) 28 litres / 28 w2z

C) 24 litres / 24 #ftex

D) 10 litres / 10 #ftex

31) In a running race, Madhu finishes the race only after Dimple. Jay finishes the race only before Kiran. If there were 10
candidates in the race, what is the position of Kiran? / T =t &t va #, wep fvaer & ams & v qvr vt 31 =77 P &
TEA 978 BT F T HaT gl A8 o 7 10 3=t &, 97 e e s e 82

A) 2nd / gErE
B) 10th / 10%
C) 3rd /¥
D) oth / 9%

32) If “JOY" = 150 and “ACID" = 68, then “VALID” = 7 /afX “JOY" = 150 & #¥ “ACID" = 68 &, & “VALID" = ?
A) 90

B) 192

C) 240

D) 144
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33) Select the option that is odd one out among the given four options. / 37 BT 37 s 9 =71 B s =77 R #f o7 Rir
2|

o

A) Genetics / =AfofT

B) Homeostasis / s#amTT
C) Elasticity / #erar

[3) Organelle | wrtaramT

A company decided to recruit Sales Executive trairees, The . -, i 5 2L, X
-. P y. _ ‘ v AT Y et wiSngat € seft ar Gy e #)
company laid down the following criteria for selecting the

_ FoAT A IRt F {e & o R o Raife B 2
candidaies.

A. should be a graduate securing atleast 70% marks. A, FETEATT T 3T T 70% S0 T AT S gt AR

;B. should have scored 65% marks in the selection interview. B, Fwiftzar T =717 ATaT=m™ ¥ 65% i urd B 24

C. should know fluent English. C. etaAT st gtz 7w g =R

'D. should have scored atleast 75% in the written tesl, D. zefize & Fafiga wher # w0 i 75% s o B #n
In the case of a candidate who satisfies all the conditions : =7 =r4ft 1T it yer =0t =7 Fweesrs 3 wiwer i

(i) Excepl A above but has completed MBA, his/her case (i) 39770 W 97 A T mrEET, SeiEE F MBA far &) 5uin areer
‘may be referred to the Managing Director (MD). e FEeE (M) =T 37 517 5T 21

(ii) Except B above bul has a work experience of alleast 2 {ii) ZOETEE | W B W wiEE, wefiears ¥ T s e e
\years after graduation, his/her case may be referred o the  a1= 707 i1 77 2 37 7 157 SRV &, IO HTHA AT T A
the President. T IEAT E

8 T 1 A e W e et e a5

Based on the above information and criteria given in each of i -
AT Rt AT 2

the following questions, you have to take decision.

34)ITh"es.é cé.ées ére gil\.rénltc;- yo-ﬁ- as on. .21;;2-Outober, ?016 .(-Ba_'r_‘-g;a.Patetl, who is B.lech secured 86% marks in graduation
and is working in a firm since 5 years. She has very good fluency in English and qualified the written test with 84% marks,
She scored 93% marks in the selection inlerview. She should be;

[ 7 qrHT STy 21 A, 2016 A Bali w agene e 8 dar wae st om B lech #, 3 wnA i 86% st wrH B # s 5 At
T i A A T R A Sl H A sy w2 e 39 84% A% % o Pl mhar sefof Y 81 s e
ATATHAT § 93% 7% U B &) a7 Zoehn

A) referrred to the President / 7T ¥ ey G sz
B) selected / safaw = =rfEm

C) rejecled / w=fgm 7o ATHRT
D) referred lo the Managing director / S#e#s F=vr 72 0T irs=T TET
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35) Rohit, Rohan and Rani are the three friends standing in a queue to pay their fees in the administrative office. Rohit
stands 9th from the beginning of the queue. Rani is 14th from the end. Rohan and Rani have 4 students between them and
Rohan and Rohit have 5 students between them. If Rani's position is 20th from the beginning, then Rohit's position from the
end of the queue is: / TiTes, T e Tt wemart= Fraier & e FI9 7 Graw w7 & o 0 e § g2 §F 2w 8 Aiedg
AT FT oreee 7 O ff srrg ¥ wET &) U Siw & 14 oY 1 T o Ty & A 4 3 § o T o Tiem & a9 5 @ g 9 Ty
T IR FATT 20 A & AT, Far & da & Ui B e g

A) 26th / 264t
B) 25th / 253f
C) 30th / 30at
D) 28th / 2841

36) Three out of the given four items are similar. Find the odd one. / BT i s Fret & & ffw v 5 &) Firer =g o me=mer 90
A) O
B) D
C)E
D) J

37) The paper sheet given below is folded along the given dotted line(s) in the sequence as mentioned. First fold is made
alang the dotted line 1, then along the dotted line 2. HDw many edges would the shape in the resultant paper sheet have,
after the folds? / #v= faw 7w fue sfte #r sfeerfre e # R o Regdt € (@) F wamia qreT Smar 81 vger gig favga £
T A T AT R st &, R et a2 F aumian 712 e afterdt Sae ofie 7 R B g

A) 7
B) 5
C)8
D) 6
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38) Pinto is the father of Pinky. Pinky is the sister of Divya's granddaughter, Jyoli. Pinto doesn't have any sibling. Divya is the
grandmother of Pinky. How is Pinto's wife related to Divya? / fer, {6 far &1 ffr e i wral, =0y 67 2z 31
T AT ATE-Aar AT 21 Fmry iy fy 2y & fir B weft B o wr Bear 22

A) Can't be determined / Frarita 72 B s aar
B) Daughter { T#F
C) Sisler { ag+

D) Daughter-in-law / 7

39) An image is given in the left and a set of three numbered images on the right. Observe and find which of these three
images CANNOT be formed using exactly the same number of straight lines as used to form the image on the left? / T 5=

ATE A A7 W 2 A A et St v i g e w1 st 2R st e & = ol B i B A et
F1 3 i wm avet F wete & Al w2, St arg ae i R g A i s G e 22

Ze il s

A) 4
B) 3
C) Both 1 and 2/ 1 T 2 71
D) 2

[ oo S ; g T SR HTATEA T A S HETr e  Fr e
AN ALLOMOLIE compan ecited o recrull management lrainees T 5 : i %
| PR vttt wr aeff e i e e et o et

for its Manufacluring Planl. The company laid down the Tollowing . ; ; i
el _ e e & o e wE Pt R
«criteria lor selecling the candidates, |

| _ _ T e AT I A 60% ST T A sErETee SiEatr
A. should be automobile engineering graduate with minimum 60% _
¢ UFTE AT AT
marks. = ) 5
' f ) _ " m B. AtrrrrETE St # o & v v Fe R
B. should have done atleasl a diploma in automobile engineering. | _
. FrAT =T

C. should be more than 21 year of age. S P —
D, ATHT=T woHor T (CET) # 7y 7 %7 70% wiw Far |
FrAT AR

st T T et A T e

(i) P w7t (A) &, AT 55% 3 s | 60% o
s ErfR o & e =9 2 wrer o e oft 2 4,
AT ATHAT HE A AT (CEQ) Fi1 = s
(i) Frarr =o=1=n (B) , AT CET % 90% & =fém a1

D. should have scored atleast 70% in Common Enlrance Test
(CET).

In the case of a candidale who salisfies all the crileria:

(i) EXCEPT (A) above, but has secured marks above 55% and
"beiow 60% and also have a working experience of 2 years, lhen
hisfher case may be referred to the Chief Executive Officer (CEQ).
(i) EXCEPT (B) above, but has secured more than 90% in CET,
then his/her case may be referred to the President.
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iBased on the above information and the criteria given in each of the 37Tt TR STTRTET ST A= f& o sredrs sy / f3 oy
following questions, you have to take decision. These cases are |14Ttl'rrs'r§% AT T ATET 0TS 2w e we
lgiven to you as on 1st October, 2016. AT AFREAT 1, 2016 7 ardE #1 Bw an |

40) Madhavi Singh is a fresher engineer, she has secured 80% marks in automobile engineering. She scored 72% marks in
CET. Date of birth on her Driving license is 6-01-1991. She should be :

| vt fifg w Tafiger Sty &, sa9 sicrmarse SifRafir  90% s grider T 21 38 CET # 79% &% wrw & 81 3a=
ST ST 7 S S 6-01-1991 81 3

A) rejected / FET AT ST FTRT
B) selected / FT ST =TRE

C) referred to the President / 8t F TT8 ST STAT AT
D) referred to the Chief Executive Officer / T HTara=T ATEFTI F T FST STHT FT120

41) A dice is taken. Numbers from 1 to 6 are written on its faces. The faces with numbers 1 and 4 are adjacent to each other,
Number 6 is on the face opposite to the face with number 3."Number 2 is not on the face opposite to face with number 4.
Based on this information, answer the questions thal follow.

Which of these numbers would be opposite to number 27/

T AT AT AT &1 1 & 6 7 Y ST SHE e U (e S g1 HeAr 1 #i7 4 F Ferh U g6 F Arwe g €T 6 ATAT T der
3 Frer e o Ao § 21 sy 2, @ 4 are weren F A e § Aw g1 S S O e a7, i {3 T st & 397 &)

= TEqTHr 7 7 i A gear 2 F Gl & At 87

A) 3
B) 1
C) 4
D) 5

42) A B,C,D,E and F are the six members of the family. There are two married couples in the family. Each of them like
different ice-cream flavours viz Vanilla, Mango, Butterscotch, Strawberry, Blackcurrant and Chocolate. A's wife likes Vanilla.
E's daughter-in-law likes Mango. F's daughter likes Strawberry and his son likes Chocolate. If the youngest boy in the family
is B, then the youngest girl doesn't seem to be D. The eldest person in the family likes Butterscotch. If all of them are
arranged according (descending order) to their ages, then who will be the last female inthe list 7 /A, B, C, D, E 47T F UF
gftae & = geey &) ulvar & & BaRe 2 &) 39 & 5 v & Ao e dreaehi & e vee § A 3R, §, aere,
T, =5 wee o il A 7 ooft 5 e aeE &1 £ A g 5 AT awE 81 F 6 A A et wie & 6 32 9 9o Tee 2
I TRATE F s 9 39 H ASAT B § A, WA T IH AT AEAT D T 2 HFAT g1 AR F IW H qewT a8 571 HI ASTEA THE 2
sare 3 woft =51 3 3w F Bare & wiEw (st ww) B s a, o= § S wzar w1 gnfi?
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A)E

B) C

C) The one who likes mango / AT FT {111 777 T77 1 7
D) The one who likes Vanilla [ =1 57 FH7T wie @l 2

43) A,B,C,D.E and F are the six members of the family. There are wo married couples in the family, Each of them like

different ice-cream flavours viz Vanilla, Mango, Bullerscoleh, Strawberry, Blackeurrant and Chocolate. A's wife likes Vanilla.

E's daughter-in-law likes Mango. F's daughter likes Slrawberry and his son likes Chocolate. If the youngest boy in the family

is B, then the younges! girl doesn't seem la be D. The eldesl person in the family likes Butterscotch. If all of them are

arranged according (descending order) to their ages and females are elder than Lheir respective spouses, youngest girl is
elder than the youngest boy, then who will be the 2nd male in the lisl? / A, B, C, D, E 47 F o wi¥am 71 m2ey ) niv=me of
A1 BTt s 2) 39 3 27 0 7 S AR AT R THE 2 ATeen: e, §, amEni, e, = a9 Az A
B Lt o I8 e s o B e e 1 T A e | e T B N T A i B R R R G R e

T B & AT, Ard At 3w A s D A A et 21 wfrAr i 5w i
Rarmar o1 wfaer (a7t am) B s i wiemnd spv e 6 g
& 7T, 7Y 3 T T e e

A) B
B) D
C)F
D) E

Following are the conditions for selection of an accounts officer
in an organization,

!The candidale must :

I:(i) be a graduate in Commerce with atleast 65% marlcs.

E(ii] have knowledge of Computers.

?(iii) be less than 30 years of age.

{(iv) musl have scored more than 70% in Common Entiance
Test ( CET ).

;In lhe case of a candidat_e who satisfies all the conditions :

[(A) Excepl (i) above, but has post qualificalion work experience
;of_ii years or more, his/her case may be referred lo General

Manager.

{(B) Excepl (iil) above, but has scored atleast 80% in CET,
his/her case may be referred lo Vice-President.

(BY =9 4 4 (jii) 77w, CET ® T 71 #wr 80% 7% TTH

AT A= FT0 W AZTEAAT THE g1 AT 3 AT AT S 2w
W39 W AN AE E, WA A A 39 ° W are Az i aEt

|
A H AT AT T o X P e ot ) e |
(i) 9 3T A 65% aAT 7 e Ay # wAn g A
i(ii]=i7’7-_1?:‘fﬂ’»r3ﬂ7ﬂ‘=_ﬁ’rl'f*|TF%Tf,l

(i) 30 = 71 7w Ay T EET AT

(iv) tus 139 27 (CET) % 70% 7 ifern =0 a2 =2
ézﬂwﬂbﬁﬁwmaﬁ?nﬁaﬁmﬁﬁmﬁ;

I(A)wﬁ'ﬁ#(i}ﬁm,wr%maﬁm%ﬂmsm_

e T T T A E, SEE WO A HETALE R ST AT

AT £

BV E, TR WA IR T ST AT AFAL 2

I AR A A A ST T s T g A
AT
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|Based on the above criteria and the information given below, I
you have lo take decision. :

44) These cases are given to you as on 1sl June, 2016. Archana Patil was born on 11-05-1991. She has secured 85% in

graduation. She has good knowledge of Computers. She has scored 66% in CET. She must be:

[ TR 1 577 2016 Fit Rl 3 srgame st Ry oy 2 speten grfeer o 11-05-1991 i gom 471 36 w7 # 85% ¥ WA
| B I TR T 99T 9 21 39 CET # 66% i yvw fhw &1 |7 wen

A) referred to the Vice-President / 3wergaiar & wrea dseT IR0

B) rejected / sFeftga FwAT =13T

C) selecled / FafRa Foam 71w

D) referred to the General Manager / TETSE4a & UTH HSTAT FT(R2T

45) A,B,C,D.E,F,G & H are the eight members of a family, A & D are the grandsons of B. H is the mother of F and wife of E.
G is the grandfather of C.C & F are sisters. There are only 2 married couples in the family. If all the fernales are assumed as
males and vice versa, then how will B be related to G?/ A, B, C, D, E, F, G #fre H W'TRE’R% mm@ AdD, BF e
& H, F 61 ot e E £ 9ot &1 G, C w7 arar 1 C A7 F ag §1 aftam & am 2 fenfRa avF §1 afy aft wheet v g we
S0 & Frdiaean a1, B, G #1 & wated g7

A) Wife / eft

B) Father / fi=r
C) Husband / 7f&
D) Mother / \TaT

A1 B P YT T ST TR AR A e b b

46) A training camp consists of college-going girls and boys. Number of girls is 9 times the number of boys.What could be
the total strength of the camp? / = EfFT &7 § FiosT F AEF AT TE(HAT STHT & FAETHA1 T T T TAEHT il el TAT 71 9
AT &, AT T T A AE AR AT 1wt Pt & awe 82

A) 41
B) 101
C) 450
D) 93
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A7) Which of the given option will NOT share the same properly s the elements of the given set*{Mouse, Keyboard,
Printer)? / R i @i 5 2w a7 ey soft spmerars v amsm a2 svor = e 2 % qor w2 (e, S, i) 2

A) Scanner / BrAT

B) Manitor ¢ TifF=v

C) Web Camera / & FmoT
D) Tennis / ZfFr

48) There are three words given here, The first two words are related in a certain manner. Selecl the proper word among [he
given four alternatives which bears the same relatjonship with the third word as in the manner first and second words are
related.

Sericullure : sitkworms :: Apiculture : ?

(e AT e v v 8 e = wex vk [ et vt #) R o s Gt 3 5 s adt e w0 s w5, St A v o

THR-FEEA ¢ 70 A hE o mEeE e

A) Fish / Wt
B) vegetables / #1fEt

C) Honey Bees / wemfEmagy
D) Pearls / #1HT

49) 1f 30 % of a number is sublracted from a second number, the second number reduces to its four-fifth. Whal is the ratio of
the second number to the first number? / 1t it 7= o 30% =it 7 ZITHT ATAT 7 T2 ST £, 79 T /I A 6 A

A} 2:5
B) 2:3
c)y1:2
D) 3.2
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Following are the conditions for selecling a Programmer in

Firm. (i) 70% s & WTer &< S Foges TR (BCA) # &
The candidate must . T =iz

[(i)' be a graduate in Bachelor of Computers Applications
\(BCA) with at least 70% marks.

(i) =9 & = 75% ST 3 AT qTERR T FAAET U inad (MCA)

'. " 3w 2T =i

(ii) have completed Master in Computer Application (MCA) | _
\with 75% marks ;‘{iii) TEE T AT & 978 1 AT FFTH ATHAT GAT AR ‘
!(iii) have a post qualification work experience of 1 year. ' |
I ((iv) 30 = F 7 A7 FT ZAT AR

(iv) be less than 30 years of age. '

| = Tt ot i T R AT I A .

|In the case of a candidate who satisfies all the conditions :

(A) Except (i) above, but has scored more than 80% in Class [(A) 31 I # A (i) A EEA, T 7 ATl FATH 80% &

XIl, the case may be referred to the Vice President. wiferen e W T3 €, AT T SOOI o I SO S AT )
|(B) Except (i) above, but has scored more than 80% in (B) 39T 3 2 (i) FT FrET, IR T awdt T # 80%
Class X , the case may be referred to President. e s ST e &, ST S T 3 T ST ST A 3 |

EBased on the above information and criteria given in each of

T ST @ T Wy W (R ATUEEt ST O, At

gth'e following questions, you have to take decision. | )
| IRLEREELEL
' |

50) These cases are given to you as on 31st March, 2016. ‘r;ogesh Yadav is graduate in BCA, secured 81% in graduation

and 70% in MCA. He scored B7% marks in Class X. He has a post qualification work experience of 4 years. He was born on
znd of January,1992. He should be ;

/= TR 31 WTE 2016 i et F arwpeme e B o 2 A rew BCA § #=a 8, 0 #aE 7 81% 0 AT MCA # 70% &%
grer i &) 2o aeET WA § 87% S e R #1 SR 4T ST F aAvg 4 A 7w SHd 81 6T S 2 SAEd 1992 T gem 47 )
T T

A) rejected / FEFA FAT ATRT

B) referred to the President / Trgwfe # wre ST AT{RT

C) selected / afiw F=1 =TMET

D) referred to the Vice-President / SaereTia & TTe ST ATRRT
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5

81, 80,78, 75,71,?, 60

51) What replaces the question mark (?) in the following number series? / a7 wwer s Fwer free (2) a1 v

A) 66
B) 67
C) 65
D) 68

52) There are three words given here. The first two words are related in a certain manner. Select the proper word among the

given four allernalives which bears the same relationship with the third word as in the manner first and second words are
related.

Punjab : Baisakhi :: Tamil Nacdu ; /

B A B el et I o Bt T = 10 e R e el o s e - e o L e S R O
worer 3w 3 i 2 B afin w e e g o it E)

e A

‘A) Pongal / wwer

B) Rongali Bihu ¢ 7imri &g

C) Hareli / g7+t
D) Onam / =y
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EFoIIowing are the conditions for selection of translator in various
idepartmenls of the government in India. The candidate must :

((i) be a graduate in any discipline with atleast 65% marks.

,!{ii} have the ability to read,write and speak Hindi and English besides

%’rhe regional language of the state to which he/she belongs.
(iii) be less than 30 years of age.

i{iv) must have Indian Passport.

|

|
:In the case of a candidate who satisfies all the conditions :

I(A) EXCEPT (i) above, but has a post graduation degree, his/her
case may be referred to State Employment Officer.

(B) EXCEPT (iii) above, but has experience of 3 years after post-
\graduation, the case may be referred to Personal assistant,State
Employement Officer.

Based on the above information and criteria given in each of the
following questions, you have to take decision.
|

!These cases are given to you as on 1st September, 2016.

|
|
|

Feferia wrw o  Bfver By & aqaes F
= % forg o &) swefiemme A

(i) = T T 65% 3 & Are Frft T BT F I9que ger

=iy

;(jn) A TS F & AT F HAFTAT [T A AU IR, |
e i e o S |
(iif) 30 & & T @y grAT =R

(iv) ST TETE BT ATa2A 2l

(A) e 3aren (i) %, A v aree-spee i Bt
T, T ATH T TS T AT T AT )

(B) e =wres (i) &, e Tree-Irspue & 918 3 4T
WW%@.Wﬁlﬁﬂi Halq#“md:[qa”( |

';-3'@!?1?'6? ST A7 T Ru e wem e § fuan
HTTEET & ATHTE T G197 (o0 &4 grm .

T ar} wrer A REe 1, 2016 Fi vt 7 Ry

|%. '.

53) Prachi Kaur, who is 27 years old, belongs to Punjab and secured 59% marks in graduation and 65% in post graduation.
She knows to read, write and speak Hindi, English and Punjabi. She has an Indian Passport. She must be: / W=l #1¥ ST
Y 27 T &, TN T T2 T E A IH IO § 59% T diw Tree-suer ¥ 65% i v w8 =g G, susft o et

T, Pt s ST ST 21 S T Sl e ) 9

A)  referred to Personal Assistant,State Employment Officer / fsiT wrgrerer, vwrsar Trsmmme srfdrerrdy & arar Ss7r siar =13y
B) referred to State Employment Officer. / Trs2 TISIITT ATEERTIT & ITH ST ST 1T

C) Selected / 997 %A1 91T
D) Rejected / =T 7@l F¥AT ATRY
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54) Which of the following is an appropriate number lo replace the question mark (?) in the sequepice given below? / s 7 31
e, A R s & wer B (2) 2 v e A o 2R e 27

1,22, 161,810, 2433, 7

A) 4870

B) 4865

C) 4868

D) 4860

55) If 21 is coded as T441V, then 17 is coded as / 72 21 1 T444V % =7 § Tz 7% Fegm a7 8, 71 17 F7 47 7 7 G
A) P289R

B) P289Q2

C) Q289P

D) R289P

56) In a certain code, RSKPC is written as TVPWN, then how is DEJED writlen in the same code? | = Rferm 7= § RSKPC
AT TVPWN F = 3 Pt simar 2, a1 3907 T2 # DEJED 71 5 T s

A) FJIOLO

B) FHMLP

C) FHOLO

D) FHOLP

57) Whal number should come in the place of “Y*? /Y & w7 77 AT 2o «ft =g ?
2,3, 4, 6,-[.3', 8,24,12,12,120,Y, 16,720

A) 12

B) 36

C) 18

D) ?'.4
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58) Which of the following pairs replaces the guestion marks (?, ?7) in the following number series? / R waar g o

-

wr AT (2, 2) v Pwfertaa sret § & S o? !
3152 7,315 15 7, 21, 10, %, 7

A) 27, 12 respectively / #7T: 27, 12
B) 28, 14 respectively / F7aT: 28, 14
C) 27, 13 respectively / #9a: 27, 13
D) 26, 13 respectively / #A9T: 26, 13

59) In a certain code, PKST is coded as KPNY. What will be the code: of the word MOHU? / vs; A2 52  PKST &1 KPNY &
&Y 2 7 Far smar &1 gse MOHU %7 %2 41 2?

A) HSCZ

B) SHCY

C) HSCY

D) HTCZ

60) Mr. Kapoor wants to arrange 159198 chairs in such a way that there are as many rows as there are chairs in each row.
He may fall short of very few number of chairs in order to fulfill the special requirement. How many chairs will be there in 1st
column after all the arrangements are done? / Y #qT 159198 FRFaT % T ag & =nafead AT A& & qrf FaRT f Sa7 &
s & fredt gve e & it g R sreva &1 g w0 F R 3R g it S 0wt §1 wet s S A e
e 3 Pt i i

A) 399
B) 297
C) 201
D) 197
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Section 2 - PART B

Ne. of Questions: G0

B1) "India shall hdve a President". Which article authenticates it? (" 1 71grfa 27" =00 37 15 71 w=es o gfy

A) 90
B) 89
C) 54
D) 52

62) Vegetable cooking oil is healthy because it mainly contains ¢ A= T @721 770 H F47 o187 FI9 T F9 T8 TEL=0 2191
27

A) Salurated acids / 3iiH AT

B) Saluraled aldehydes / Wﬁﬁm's’

C) Unsaturaled aldehydes / s0iem nizgree

D) Unsalurated acids / s#dR @1

63) The Vindhyachal Thermal Power Stalion is located in which state of India? / e ade qr waera s & For o o
fgm 22

A) Maharashlra [ wgomg
B) Bihar / Az
C) Madhya Pradesh [ e s=or

D) Gujarat / gz7Ta

64) Who among the following was NOT a prominent leader of the Congress Socialist Party? \ frerfafas 5 7w s
et W v s AT A 97

A) Jayaprakash Narayan \ SRTer 191807

B) Bal Gangadhar Tilak \ & s @

C) Dr. Ram Manohar Lohia \ 2. 7107 gAT2T ATEAT

D) Acharya Narendra Dey \ 4r=4 #vez &=
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65) If 2 100 Watts Bulb is ON for 10 hours, then what will be'the amounl of consumed Electricity? / gt o= 100 =7 &7 7%= 10
e F fore st &, a7 @ @ wrAr Fr e -

-

A) 1000 Watts ( 1kW) / 1000 a1z (1 B are)
B) 100 Watts per hour / 100 == wfa =rzr

C) 1 kWh = 1 Unit of electricity / 1 Frame "zr = 1 faw=T f 7R
D) 100 Watts / 100 7=

66) Who among the following is/are awarded as the Sveriges Riksbank Prize in Economic Sciences in memory of Alfred
Nobel 20167 / Fraifia & & By wtns Arae 6t 2478 § arow Femd Sresr o7 ThiA (T arsesy 2016 war & 7ar?

A)  Oliver Hart and Bengt Holmstrom / giifeae 212 47 dve gremzin
B)  Yoshinori Ohsumi / Fifrt zmgeT
C)  Juan Manuel Santos / 91T Heret Herer

D) Jean-Pierre Sauvage, Sir J. Fraser Stoddart and Bernard L. Feringa / STA-fro sifasy, ¢ 3t heiT €2122 417 G918 U

67) 'Moore's Law' is related to which of the following theories or instruments? / gz =t farfer frer fraiet ar oot & & frrer
A) Transistors / gifsrez

B) DNA Sequencing / DNA =107

C) Behaviour of Gases / Tt =7 =97

D) Satellite Broadcasting / &&sree wmor

68) Which Indian state retained its position by being on top in literacy rate as per the census of 2011? / 2011 i =T &
AT Frey v T 3 AT % A ofvd v e e 22

A} Maharashtra / #gTiTg2
" B) Punjab / w=tTa

C) Kerala / &%&

D) Karnataka / F7esh
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69) "In terms of Article 358, an Article 19 can be suspended at limes of emergencies". What is artjgle 197 / "sq=s7 358 &
ST, AaE 19 9 Rafer v 7 =afie e w7 7w 27 amad 19 #Ir g?

A) Right against exploitation / orravr & Bwg i

B) Right le freedom of religion / el Y wEreAT W AfaR

C) Right to Constitutional Remedies / #3emfamy Ta=17 #71 @iz
D) Right to freedom / Tt 51 A8

70) Martin Gibbs is the head of which of the following sports governing body? / W firer e o = ey e 7 o

R 3 wipe 22

A)  Federation Inlernationale des Echecs (FIDE) / F=7viF Zzveerr =37 "= (FIDE)

B) Federation Internationale de Foolball Association (FIFA) [ WZvur Sevaqumee T gat At (FIFA)
C)  Union Cycliste Internationale (UCI) / I wizfEz 22w (UCH)

D)

Nalional Basketball Association (NBA) / F9=71 ans@aia @i (NBA)

71) Who of the following was declared as the Player of the Serjes in India - New Zealand three lest crickel series, in Nov
20162 / A7 2016 , 760 F & B area - =gsfrs i e s smmr & s atw 2 =#fifis = & e B ar?

A) Viral Kohli / Fera Frzeft

B) Ravindra Jadeja / &= s==7

C) Ravichandran Ashwin / v{aE=ger swhamr
D) Wriddhiman Saha ( frizwa st

72) Who are lhe laureales of the 2016 Sakharov Prize lor Freedom of Thoughl, the European Union's top humarn righls
award? | =T A w=remA F P e ww % ofnt wmartie e 2016 ST e Iera S i 87

Nadia Murad Basee and Lamiya Aji Bashar / 7tfRar 7= @it =i =ifas «mft For
Aung San Suu Kyi and Malala Yousafzai | @ w717 37 £ =T 5onm7 T7mee
Anatoly Marchenko and Taslima Nasrin / s=ra T =T =i miay s

Dom Zacarias Kamwenho and Salih Mahmoud Osman / =i saafam wnea1 @i a+fiz vzas 390m
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73) In Nevember 2016, RBI issued new series Rs. 2,000 currency notes, which is a first under the denomination, which of the
following has been printed on the reverse of this new note? / TaaT 2016 &, RBI 7 7. 2,000 H&T 7721 #7 7E <@ s &, 7 59
g ot i wrad v &, e 0 & v Aw A & o & o e s g R g2

A) Image of the Red Fort / #r=r Ber i afF
B) Economy of India / sreer & srefemaregr
C) Dandi March / T ur

D) Motif of Mangalyaan / 5131 T 5a #9719

74) When Lord Hanuman was crossing the ocean on his way to Lanka, his path was obstructed by sea demoness named /
S AT ST AT 00 SO e 7 AE W A TR A, o e weet wrerh 3 g et T 4

A) Kabuki / #Teefr

B) Simhika / fifEsr
C) Vajrasura / ssTeT
D) Sisunaga / fag=mm

75) Who among the following scientists discovered Radium and Polonium? / e demfaet # & fra deay de onfaag
i & 2

A) Dmitri Mendeleev / 2Hir ag=iiar

B) Niels Bohr / e @1

C) Marie Curie / & Ft

D) Glenn Seaborg / e #ramt

76) Which German footballer, the World Cup's all time top scorer with 16 goals, announced his retirement in November
20167 [ =T 2016 ¥ Fi7 & FHA FEATT F AU G AT G0 ST A6 e arer B F et @ w0 wdAy whew 82

A) Bastian Schweinsteiger / aTfeeaT aTeaeerT
B) Miroslav Klose / fieama s

C) Maric Gémez / AT o

D) Manuel Neuer / #qsra fAege
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77) As per the Q4 report revealed by Akamai technologies in 2015, which country is at the topmost position in terms of

internet speed? / 2015 I sRTHE SF=TSI BT gATARE Q4 s & AT, N AT Z9r Szver By 1 35 Wi & savy w0 29

A) South Korea / &l srfey

B) United Kingdom / ATz fFarsy ’
C) Iran / €17

D) Vietnam / e

78) In which of the following sectors foreign direct investment (FDI) continues to be prohibited, even after lhe Union

Government has eased FDI norms for nine seclors? / fasrifim & & fimr e 7 e HEATT BT AT F21 o o o
(FDI) i 7 spm st 7 ava ft ey Brzofiy Feor (D) wfdrifire 22

A) Defence / fZw=n
B) Real Estate Investment Trusts / B medz 23wz s

C) Pharmaceutical / wraie=yfz
D) Aviation / mrizrmere

79) Which among the following real eslate groups of India has a branding partnership with the real estate wing of Trump

Organization at Pune, and will be atiending his inaugural ceremony al USA scheduled (o be held in January, 20177 / q17d W

WWWW#WMW#WWTM#WW?HWW T &, S ST He e A i s,
2017 T SAFTIT g a0 30 FETET AR T AT

A) Kalpataru group / F@rms g1

B) Wadhwa group / zmeat 7

C) Runwal group / ¥+t

D) Panchshil Group / w=fter

80) Muga silk is produced in which of the following states of India? / T Zorr Fi7 Zer=sr 1 3 Bt 71t i By FATAT &2

A) Chatlisgarh | ==fimmz
) Assam | a

C) Karnataka / T2

D) Rajasthar / =raream
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81) Justice RM Lodha Comimittee for reforms in Cricket in India has been appointed by which of the following institutions? /
e e 3 qamet 3 form mma e wr Ay wfEfE S G aere g Raws far a2 "

A)  Supreme Court / TeTg 7ITATEY

B) Enforcement Directorate / a=i= Hzameg

C) Ministry of Youth Affairs and Sports, GOI / Z[=T ATHE U= G W17, WV T
D) Sports Authority of India / STTHT @ FTTE=FTT

S e - S S S—

82) Which town was an important trading centre of the Indus civilization? / Fi+ #T 918 g Teaar Wmﬂﬁﬁ'{ﬂfwﬁ?ﬁ ¥z
17 |

A) Surkotada / g¥HTHET

B) Lothal / =Tt

C) Chanhu-daro / Brg-ST3T

D) Banawall / a=eet

83) Who amiong the following is the Union Sports Minister of India as on Oct 2016? / 71 & & Fiw sisrza< 2016 F &are qre
F T ww HAT 7

A) Vijay Goel / f&sm e

B) Anurag Thakur / 27T 2157

C) Piyush Goyal / Ftaer 7

D) Anupriya Patel / stefSraT waer

84) Part VI-A, which contains Fundamental Duties, was inserted in the Constitution by / 97 VVI-A e wifere seer amfier &,
s g AifEeT & siver T ar?

A) 44th Amendment / 44T weres

B) 25th Amendment / 25at Terra

C) 19th Amendment / 193 HATET

D) 42nd Amendment / 42T &grerm
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85) Which of the following is the meeting place of the rivers Ramganga and Ganga? / fisr & 2 T 91 vas vraey siie iy
At @ G v 27

A) Delhi | =t
B) Agra / =mrT
C) Allahabad / Z=rigTam=

D) Kannauj / 7T

86) What is the total geographical area of the Lakshadweep Islands? / 7= = F7 71 S e B 27

A) 52 sq km / 52 T
B) 32 sq km / 32 Feiffy
C) 72 sq km / 72 77T
D) 62 sq km / 62 Frfreft

87) Through which article of the Indian Conslitution, Sikkim is associaled with the Union. [ sreeter afEem & By s=a2 7
wiey w fafde, 71 g qEy gar 87

A) 1
B) 2A [ 2
cy2
D) 3

88) Which country has won the Asian Kabaddi Championship 20167 / far &er 5 mforard sadl Ffamtorr 2016 sfar?

A) India [ ara

B) Indonesia / =TT
C) lran / E771

D) Pakistan / wrfiwarT
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89) Under which of the following ministries National Pharmaceutical Pricing Authority (NPPA) was established? / it & &
ey wimrrerar o arefier Soreer wraegfeser sefi ata e (NPPA) & warmr 47 wé 7 b

A)  Ministry of AYUSH / & s=mer

B) Ministry of Statistics and Programme Implementation / STt 741 Fdwm FATETT TATTT
C) Ministry of Chemicals and Fertilizers / THTET @41 3875 #1908
D)

Ministry of Health and Family Welfare / #=mees a1 Tftame Feamor w2714

90) Who is credited with the original scripting of "Panchatantra”? / “T=re=" T ger fFrars =7 81 G B sar 2
A) Vishnu Sharma / f&mep graf

B) Mohan Bhagwat / ¥Tga AT

C) Tulsi Das / g+t &t

D) Kalidas / FfereTa

91) The names of how many Deccan kings are mentioned in the Allahabad Pillar Inscription? / &= S st & FTHT &7
Te TATgETE ¥ feree ¥ By Ty

A) 10
B) 6
C) 12
D) 15

92) The radius of curvature of a spherical mirror is 20 cm. What is its focal length? / e TiefT U7 &1 73 forsa7 20 Hfedier
g1 Iueft W o et 82

A) 40 cm / 40 Ffzetes

B) 10 cm / 10 #fesfier

C) 20 cm / 20 #feefiex

D) 5 cm / 5 #fedfter
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93) Pierre de Coubertin medal, known as fourth medal in olympics was given to which of the following athletes in Rio 20167 /

At § e 2 wafEs waw o st & =t wam o = sy sar 2, Pl veefar 8 7 B R e ar

A) Luz Long and Eugenio Monti / 73 @117 i+ garfer wifz
B) Emil Zatopek / it w2TfTm
C) Lawrence Lemielx / "-‘l'l”:”*T"‘IT’-T

D) Nikki Hamblin and Abbey D'Agostine / FEfT &t ey Srmmifeass

94) Tabagat-i-Nasiri is a famous original literary source of whichperiod or era by Minhaj-us-Siraj? | fimgsr-2-feT

A) Mauryas | w4

B) Kushans / 0T

C) Sunga dynasty / vt For

D) Muslim Dynasties / WfFas =or

95) Which one of the following Raga is sung early in the morming? / Fer § 7 7 57 TR1 7% 37 (58 54 T) 707 a7 57

A) Kafi / Ffr

8) Todi / #rdr

C) Durbari Kannada / 372 #=
D) Deepak / F7

96) Which of the following scientists discovered the HIV virus and delermined that it was the cause of AIDS? / fRsfafaa
St o 3 Free HIV T £ qr e Fratfa e e ADS m wrr ar?

A)  Felix Holfrmann and Joseph Lister/ &fFmmr z2iwis i+ o fer
B) Melville R. Bissell and Grand Rapids / e =7, fae «f iz v
C) Joseph F. Glidden and Claude Minie / 59 v, fim s #ie Frsz i

D) Lue Montagnier of France and Robert Gallo / w151 =1 mi=afiias 4tv #iad mrmn
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97) In which of the following states of India, are the iron ore deposits of Dalli-Rajhara found / fRifFa & & e & fFFa s §

S |-TT=AeT #i1E waeh =T foum 22

A) Bihar / 8z
B) Chhattisgarh / @iz
C) Rajasthan / 7141+

D) Karnataka / FTes

98) The asset class money represents \ Thar aF w4z B whfRiee T 82

A) real assets \ &= g1

B) financial claims \ F=fi= arat

C) commercial claims \ arfrfens: amE
D) real wealth \ aTeafa &=

99) The characteristics of money being converted into anything is known as \ &= € Rsremeii =7 fmly off =0 & wfatde 5w 5

A)
B)
C)
D)

Acceptability- Acceptable only when it has intrinsic value \ TiaTaaT - =i ¥ 579 78 Aiqion 79 &
Constant in purchasing power \ = o1f%w # Rawar

Liquidity- The most liquid of all assets \ 7= fAfer -afimmers: a+ff 5= ghiwafar

Increase in purchasing power \ #% 91f<s 7 g

100) Under the Maratha Administration Amatya or Mazumdar was a minister for which department? / T¥TST 9TTAS ¥ SMTeT 9T

A)  Helped the king with his correspondence / 37T FITHaT ¥ FTIT 1 W& 2aT 97

B)  Minister for finance and revenue / & va wrse o=t

C) Was responsible for intelligence, posts and household affairs / FarerT, =1 die e wweT & for Frem grrar
D)  Minister for justice / =Taw=T ’

101) Which of the following is a mountain pass in the Western Ghats? / fstifa # & s gizrdt =re # fRag v weidfir a7f &2

A) Bhor Ghat / 917 912
B) Shipki La / far=t =t
C) Nama Pass / 7T/ &=t
D) North Col / &T4 et
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102) Which of the following companies signed a deal with US-based Bell Helicopler o jointly develop the helicopter markel in
India? / fawrifra # 31 Fer doeft 7 qrer-feae 3w geftmites & ommg w # doen =7 7 gty = ® e 3 f v wig o

gearay fmr 22
A) Hindustan Aeronautics Limited / =z maretfzer Frfezs

B) Tata Advanced Systems Limited / Zr=1 Trz=irs oy s
C) Helicopters Gimbal / #imived fm

D) Mahindra Aerospace / ®fZzT 7 ET

103) Who among the following appoints the Secrelary General of Lok Sabha? \ AT 1 ggma== 71 e o 7 ar e o

z?

A) Bpeaker \ sreme

B) Prime minister \ werrr =T

C) Home Minister \ z=t

D) Minister for Parliamentary Affairs \ 59 577 % W=

104) Identify the INCORRECT statement related to All India Muslim League. / sy st sy o & safere s e i
WEATHI

A)  Syed Ameer Ali established a branch of the League in London in 1908 / 31 steft 47 7 1908 W 7z o = £y ma
ot e i ot '

B) Thete were six vice-presidents, a secretary and two joinl secretaries for a term of three years / =5 #i= =7 i a3ty T

C)  The headquarters of the All India Muslim League was established in Lucknow ( s syroeia gffens AT a1 g
S 7 v B T e

D) Nawab Salim Ullah Khan was elecled as its first president / F37 5710 77112 @79 A1 2905 W20 seng F =7 § A
T e ar

106) The Public Accounts Committee is headed by \ 7% ot wiafd R saer o s wvdT 2

A) A Member of the opposition \ st = e gy
B) The Auditor General of India \ am# F w1 T %
C) The Chairman of the Rajya Sabha \ 7T #4T 7 a7

D) The Speaker of lhe Lok Sabha \ 7T AT 7 s
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106) When was the Minimum Wages Act passed in India? / 1ea § wgers araw ierfaw s rive B e ar?

A) 1951
B) 1936
C) 1942
D) 1948

107) Which of the following is the largest brackish water lagoon in India? / e ¥ Tradr S=T =@T¢ T i 79 3 11 57

A) Wular lake / g& 3fie

B) Chilika lake / e sfi=r

C) Vembanad lake / dvaeTe =i
D) Loktak lake / & =y

108) Who was sworn in as the Prime Minister of Australia in July 20167 / =TE 2016 # B sttezffram & wermed= & =7 oy
ot «fr?

A) Julia Gillard / sferar fiems

B) Malcolm Turnbull / #=F eige
C) Tony Abbott / 2+t wae

D) Kevin Rudd / &&= ==

109) Which of the following political parties was formed before India got independence? \ arsmsr & Tger Faferfaa # @ fmr
i 2 e e P e

A) Communist Party of India \ F=gfaTe Tl «itF 22T
B) Bharatiya Janata Party \ a2 st=ar arét

C) Bahujan Samaj Party \ ag=T a1 9Tt

D) Telugu Desam Party\ ﬁ?ﬂl%ﬂ'ﬁr LIS
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110) Identify the CORRECT reason for Bardoli Satyagraha. / arv=1=fT s #1 7127 Froor wg=)

~

M) European planters forced desi farmers to grow the indigo’in Eastern India, without paying right price / =71y s
e #T i o e Fe B qeff e 5 zar @ dmn s G B o e e g

B)  Land Revenue was increased by 22% [ q-71a=a % 22% i 315 22

C)  Hindu Zamindars (Jemnis) exploiting Muslim Moplah farmers / {275 7eft=1e (Srfre) sgfEens smrer Rt = ofromr g4
o

[y  Government abolished tinkhatia system and paid compensalion o the faimers ¢ 377 7 fFatem w57 a7
R am =it BT r e A sprar G ar

111) The adminisirative expenses of the office of Comptroller and Auditor General of India shall be charged upen the [ w77

i (5= A ST WS AT G = 2 i At warte Fe s

A) Jan-Dhan Scheme / S=-&+F 75T
B) Consolidated Fund of India / ‘o i1 #if=m Ffir
C) RBI Account / areeizr F= &= =67 wrar

[3) Investors Prolection Fund / FE=erm: sizsm i

112) In November 2016, PM Narendra Modi inaugurated Asia's biggest man-made jungle safari in which of the following
places? [ FA=T 2016 W, Wamw= 778 7=t 7 FerfFrbae st o 7 st viven & w2 92 aae Bt sirer et =z e

A) Patna / AT

B) Bhopal / ‘e

C) Naya Raipur / 7211 Y117
D) Allahabad [ =TEETE

113) The Moplah Peasants Movement was started and initialed from which region? / ®T7AT T @ o1 Fior a7 71 o=

A) Oudh / ==
B) Malabar / WA=
C) Champaran / =mar

) Bengal / #Zwra

9-12-2016 — Balohd — Groupd ____For: Rajya Sabha Secretarial, Parliameni of India
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114) The 'Unity and Integrity of the Nation' is a part of / Trg £ weaT =7 stg=ar fFmar us Brar a2

A) Justice / =T
B) Equality / 78T
C) Fraternity / avge

D) Liberty / wre=raT

115) The Noble Gas which is most abundant in the atmosphere by volume is / 4raet | ST strrae & fEaTe & amwes 7 999
wiferes wrar s g, R g wwe A 82

A) Argon [ &Mt
B) Xenon / SiAfT
C) Helium / Eife=m
D) Neon / f=fs

116) A metal powder which can be used to extract silver metal from its salt solution can be / w5 errq gvf B e feav
ST T S AV ST & ey # By o awar £, 78 R § TS A a2

A) Gold / res

B) Potassium / drzrfras

C) Aluminium / Tregfifaams

D) Platinum / wif&mr

117) Which of the following is an example of chemical change? / Trermafaes ufteda &1 fFer § & #1 a7 U Fa=er 87

A) Boiling of sugarcane juice to form sugar / S+t a=rr % o w3 & v 1 g9
B) Boiling of sawdust in water / gZTaT T # FF@AT
C) Boiling of seawater to form salt / 7= G717 % o0 TAT ST &7 FaaAT

D) Boiling of potato cubes in water / &7 F Fgew T 7 FaFAT

118) Which case is better known as the Mandal Commission case? / #i7 IT H=@ A4 ATHS & &9 § dgat ST S1ar g2

A) Romesh Thapar Vs State of Madras / T4 4777 SATH HETH 1750
B) Indra Sawhney Vs Union of India / a1 @Tgst awma wediT w9
C) Golaknath Vs State of Punjab / Trasarer a7TH 9sia 7159

D) Maneka Gandhi Vs Union of India / B=T a1t Fam sl o=
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119) Which fatty acid is present in highest percentage in olive oll triacylglycerol? | @i f= enfErafrmia # 77 a7 55 v

Ha srtae affer § Wiz 27

A) Palmitic acid | mifafes e
B) Linoleic acid / Frar=ies v
C) Oleic acid / #ii= a1

D) Stearic acid / ¥ @

120) Who among the following will constitute a Finance Commission in India? \ a177 ¥ 7= &= wormr am 7o FuffHa 5

A) The President \ 71emf
B) The Speaker of the Lok Sabha \ @1 o @eng
C) The Chairman of Rajya Sabha \ 777 wrar 7 sar1i#H

D) The Prime minister \ Term=w=T
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Section 3 - PART C

121) Which of the following is an uncountable noun?

A) carriages

B) cabineis

C) chairs

D) cheese

122) Choose the correct option to complete the sentence:

you go the cooler it will be.

A) High

B) The highest
C) The higher
D) The high

1283) Identify the compound sentence among the following:

A) We locked the door and switched off the lights.
B) We stayed in Mumbai for a year.

C) That bag is mine.

D) We stayed up all night,

124) Identify the antonym of the underlined word:
The rapid check of the bags failed to detecl the bomb.

A) precipitate
B) leisurely
C) thorough
D) brisk

No. of Questions: B0
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125) Choose the correct meaning of the phrase /idiom underlined in the senlence:

The two tribes had Lo bury the halchel after the struggle for supremacy.

A) to make peace
B) to make friends with
C) to oblain money

D) to keep a secret
126) Identify the correct synonym: Severe

A) Lenienl
B) Loose
C) Tight
D) Harsh

127) Fill in the blanks with the correct option.

The butterflies to the branches of the tree.

A) clings
B) clung
C) was clung

D) clinging

128) Chose the word thal is spell correctly and fill the blanks:
Please tell me lhe poslal of the office.

‘A) address
B) adress
C) adreass

D) addres
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129) Identify the antonym of the underlined word:

The commission is calling for a global ban on whaling industry. .

A) worldwide
B) local
C) regional

D) national

130) Fill in the blanks with the correct option:
Meena is bad maths.

A) by
B) for
C) at
D) in

131) Fill in the blanks with the correct option:
She is ashamed her bad behaviour.
A)in

B) by

C) of

D) to

132) Fill in the blanks with the correct verb:

Almost everyone some musical ability,

A) has
B) have
C) having

D) are having
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For: Rajya Sabha Secretarial, Parllamenit of India

123) Read lhe senlence carefully and select the underlined part that is incorrect:

e

For the last fifty years of his life,Sam lived al his house in Wasleland, where he cultivaied a renowned orchid farm.

A) where he cultivated
B) of his life
C) lived at

D) renownied

134) Fill in the blanks with the correct option:
They could buy all food for

rupee

A)a a

B) a, an
C) a, the
D) the, a

135) Fill in the blanks with the correct option.

Wy friends to spend time in cafe coffee day.

A) likes

B) like

C) were liking

D) liking

136) Fill in the blanks with the correct option:
King Lear______ his favorite ehild Cordelia.

A) banishing.
B) banished
) hanishes

D) banish
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137) Fill in the blanks with thie correct option:
My will my heart. =

A) liberate
B) liberates
C) was liberated

D) liberating.

138) Identify the correct synonym: Flashy
A) Famous

B) Showy

C) Fair

D) Fresh

139) Read the sentence carefully and select the underlined part that is incorrect:

When she picked up the phone and a voice asked, " May | speak to Ms. Gardener?", Rosie answered, "This is her."
A) up

B) she

C) may | speak

D) this is her

140) Fill in the blanks with the correct option:
compulers are used in most offices.

A) the

B) a

C) no Arlicle

D) an

141) Fill in the blanks with correct option:

She has no the manager.

A) acquaintance in
B) acquaintance with
C) acquaintance up

D) acquaintance for
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142) Fill in the blanks with the correct option: L
Mahit is engineer but his father is 2 business man.

A)a

B) the

C) no article

D) an

143) Fill in the blanks with the correct option:

His poor knowledge in English disqualifies him the job of leaching.

A) to
B) from
C) far

D) with

144y ldentify the anlonym of the underlined word:
The red soil of India is friable in nature.

A) nol easily eroded
B) not easily irrfgaled
C) not easily cultivated

D) not easily crumbled

145) Fill in the blanks wilh the correct option:
She

the piano for three years by Ihe end of this year.

A) shall learn
B) will have been learning
C) will have learnt

D) will be learning
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146) Change the given senlence into a2 simple sentence:

People who live in glass houses should not throw stones.

A) Peaple living in glass houses should not throw stones.
B) Those who are living in glass houses should not throw stones.
C) Those who live in glass houses should not throw stones.

D) People should not throw stones if they are living in glass houses.

147) Choose the Noun in the given sentence:

The audience was waiting for the curtain to rise,

A) waiting
B) rise
C) audience

D) for

148) Fill in the blanks with the correct option:
Sneha has a craving sweels.

A) in
B) by
C) with
D) for

149) Chose the word that is spelt correctly and fill the blanks:

The seals in the new airbus were making the long distance journey pleasant.
A) c‘omodicé

B) comodious

C) commodious

D) commodius
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150) Fill in the blanks with the correct oplion:
Whale is mammal.

A) &
B) an
C) the

D) No article required.

151) Fill in the blanks wilth the correct oplion:

She had nightmare after which, she neither slept peacelully nor did she allow

A) the. a
B) a, the
C)an, a

D) the, an

152) Identify the meaning of the underlined phrase/idionm:
Inspite of all his brag he had lo eal humble pie.

A} apologise humbly
B) order humbly
C) talk humbly

D) ask humbly

163) Fill in'the blanks with cerrecl option:
Kanpur is famous _____ils leather work.

A) because
B) by

C) fram

D) for

others lo sleep peacefully.
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154) Fill in the blanks with the correct form of verb:
The farther north they the colder it became.

A) goes

B) went

C) has gone
D) go

155) Fill in the blanks with the correct option:
How sugar do you want?

A) any
B) much
C) some

D) many

156) Fill in the blanks with the correct verb:

A package of economic sanctions to be enacted against the country.

A) are

B) is

C) were

D) have

157) Change the compound sentence into a simple sentence:
She is not only pretty but also clever.

A) She pretty but also clever.
B) She is pretty but clever.
C) Being pretty, she is clever.

D) Besides being pretty, she is clever.
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158) Identify the correct synonym:

Renounce

A) Hire
B) Disown
C) Owe

D) Possess

159) Chose the ward thal is spell correctly and fill the blanks:
The parents applauded their

A) mischevious
8) mischievous
C) mischevous

D) misschivios

160) Choose the correcl form of the verb in brackets:
The glass (fall) when the ball hil the table.

A) falls

B) has fallen
- C) fell

D) can fall

161) I.d'eﬁtify the Simpie senlence from the following options:
A) He worked hard, bul he failed.

B) In spite of his hard work, he lailed,

C) Even though he worked hard, he failed,

D) Although he worked hard, he failed.

kids' pranks, though il annoyed others.
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162) ldentify the correcl synonym: Crave

A) Despise
B) Renounce
C) Desire

D) Hate

163) Identify the correct synonym: Broach

A) Conclude
B) Close
C) Introduce

D) End

164) Choose the correct option o fill in the blanks:

When Rahul reached the station, the train already :

A) would have, left,
B) has, left.
C) had, left,

D) could have, left.

165) Identify the correct synonym of the underlined word:
Each student has to write a concise outline of the book.
A) Brief

B) Extensive

C) Interesting

D) Lengthy

166) Identify the antonym of the underlined word:

The day was gloomy, and the sky was overcast with dark clouds
A) bright

B) dismal

C) dark

D) bleak
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167) Chose the word that is spelt correctly and fill the blanks: .

The teacher asked lhe prefect to distribute the

A) queslionnair
B) guestionair
) quaslionnaire

D) guestionaire

to the class.

168) Read the sentence carefully and select the underlined part that is incorrect:

Both the manager and her assistant has been fired. Both of them have not been notified.

A) has been
B) both of
C) been notified

D) both the

169) Identify the antonym of the underlined word:

The Presidenl's speech was lengthy.

A} inspiring
B} interesting
) brief

) boring

170) Fill in the blanks with the correct form of verb:

He never bacl on his word.

A) went
B) go
C) is goiny

D) gues
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171) Choose the correct pronoun to complete the sentence:
The city is not very populated. b

A) themselves
B) himself

C) itself

D) herself

172) Read the sentence carefully and select the underlined part that is incorrect:

When Joe unplugged the wire from his television, he discovered it to be seriously damaged.

A) when

B) damaged
C)itto be
D) from

173) Choose the correct form of the verb in brackets :

| (write) a complaint lelter to my manager.

A) am writing -
B) write
C) writes

D) would write

174) Choose the correct option to complete the senlence:
He was so that he almost fell asleep.

A).bored

B) excited
C) interested
D) eager
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175) Identify the meaning of the underlined phrasefidiom:

He appears to have an old head on young shoulder.

A) to be wise
B) fo be beyond his years
C) (o be over enthusiastic

D) la be overaged

176) Choose the correct meaning of the phrasefidiony underlined in the sentence:

The agreemenl must be made in black and while.

A} in court
B) in black and white paper
C) in writing

D) in black and white file

177) Choose the correct option to complete the sentence:

One cannol choase lreedom for without choosing it for others.

A) oneself
B) one's
) oneselfs

D) one

178) What lype of noun is the underlined word:

In winler the lrees shed their leaves.

A) proper
B) collective
C} uncountable

) countable
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179) Choose the correct option to compiete the sentence:

The property Is ideally located with all local amenities close

A) at hand

B) by hand on
C) hand in

D) at in hand

180) Identify the antonym of the underlined word:
The camel is wrongly called the ship of the desert,

A) not

B) incorrectly
C) rightly

D) mistakenly
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